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Thursday, January 16, 2014

--- On commencing at 9:37 a.m.

MS. SEBALJ:  Good morning, everyone.  My name is Kristi Sebalj and I am Board Counsel for the Board Staff team.  As you probably are aware by now, the case manager for this matter is Colin Schuch, who is sitting to go my right. On  our team we also have Laurie Klein, Fiona O'Connell, who is not here yet, Duncan Skinner, who's somewhere in the room, and of course Board Staff expert Dr. Lawrence Kaufmann of Pacific Economics Group.

I'll just give a little background.  I'm going to try and be brief, although a lot has happened on this matter leading up to this date.

The application was filed on July 3rd, 2013 under section 36 of the OEB Act for an order approving rates for a five-year period commencing January 1, 2014.  The notice of application was issued on July 22nd, 2013.  We held an information session on October 11th, 2013.  It was Board-ordered but it was Enbridge's information session.

On October 22nd, 2013 Dr. Kaufmann filed his expert evidence.  Expert evidence also been filed by John Todd and Michael Roger of Elenchus on behalf of APPrO, and that evidence was filed on December 18th, 2013.

An issues conference was held on October 25th, 2013 and the final Issues List was approved -- issued by the Board in Procedural Order No. 4 on January 2nd.  There were no contested issues and the Board accepted the proposed Issues List on November 5th.

Interrogatories and interrogatory responses have been filed in accordance with the dates ordered in Procedural Order No. 2, and today's technical conference was also ordered by Procedural Order No. 2.  However, following the filing of additional amended evidence by Enbridge, the Board provided in Procedural Order No. 4 for two additional days.  So we have four days total, today, tomorrow, and Monday and Tuesday should we need them.

Undertakings from the technical conference are required to be filed with the Board by January 23rd, following which a settlement conference has been ordered, and that would begin on January 27th.

I note for the record that on October 29th, 2013 Enbridge filed a Notice of Motion seeking approval of a 2014 UDC deferral account and interim approval of Enbridge's updated 2014 gas supply plan, as set out in Exhibit D3-3-1, updated, for use within Enbridge's 2014 QRAM applications until such time as a final decision in this proceeding is implemented.

The motion was supported by evidence and included a settlement agreement, and the Board granted the relief sought in the motion in its decision on Issues List and decision on motion dated November 5th, 2013.

I also note that on November 28th, 2013 the Board granted Enbridge's request for an interim rate order and has therefore declared the existing rates interim effective January 1 of this year.

There have been two separate confidentiality requests, one made by Enbridge in relation to certain materials filed in response to a preliminary Board Staff information request, which was Board Staff IR No. 1, and another made by Board Staff in relation to working papers of Pacific Economics Group research filed in response to Enbridge Interrogatory 12a, which is Exhibit -- sorry Exhibit I.A1.STAFF.EGDI.12a, part A.

The Board determined in PO 4 that it would grant Enbridge's confidentiality request.  In that same PO the Board set up a process to deal with Board Staff's confidentiality request, and that means to the extent that any of that information is referenced today -- which we hope it doesn't need to be.  In the normal process we try to avoid referring directly to the confidential information, but if it needs to be referenced, we would have to ensure only the parties that have signed the declaration and undertaking in the Board's form are in the room and that we go off-air.

I think we do have copies of the form of declaration and undertaking for any parties who changed their mind and would like to stay, if we need to go there.

In preparation for the technical conference, the Board required parties to file a description of the specific areas they would be focusing on and an estimate of the time required for each area of focus.  Enbridge has developed a conference agenda, which it shared with everyone.  My understanding from some correspondence back and forth is that it's a bit of a fluid agenda in terms of the exact times and exact order of parties, but that the panels will appear in the order per the agenda.

Again we do have -- so we'll be flexible in terms of order and timing, but we do have to wrap up by the end of the day Tuesday, and I'm sure many of us hope before then.

I remind everybody that this is a technical conference.  We have a court reporter; it is being transcribed, so please use your mics.  I think everyone in this room knows that they can be a little quirky, so please make sure you're on before you speak.  I also remind everyone that we don't have a panel, so to the extent that there's any disputes we'll have to park them and we can't resolve them ourselves.  We'll park them and get guidance from the panel on anything.

So before I ask for anything preliminary, why don't we get appearances from all the parties, please?
Appearances:

MR. CASS:  Thank you, Kristi.  Fred Cass for Enbridge Gas Distribution.   Dave Stevens is here with me, but not at the counsel table.  At the counsel table with me are Mike Lister and Andrew Mandyam from Enbridge.

MR. BRETT:  Good morning.  Tom Brett from the Building Owners and Managers Association.

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

MR. QUINN:  Dwayne Quinn on behalf of FRPO.

MS. GIRVAN:  Julie Girvan, Consumers Council of Canada.

MS. DULLET:  Kim Dullet for the Canadian Manufacturers & Exporters.

MR. WIGHTMAN:  James Wightman on behalf of VECC.

MR. AIKEN:  Randy Aiken on behalf of Energy Probe.  I would also like to register an appearance for David MacIntosh.  He'll be joining us later.

MR. WOLNIK:  John Wolnik for APPrO.

MR. MACMAHON:  Pat McMahon with Union Gas.

MS. SEBALJ:  Is that everybody?

MR. ROSS:  Murray Ross with TransCanada.

MS. SEBALJ:  All right.  Was there anything of a preliminary nature from anyone?  Enbridge?  No?

Okay.  I think the agenda has Dr. Kaufmann taking the witness box first.
DR. LAWRENCE KAUFMANN, PACIFIC ECONOMICS GROUP

I don't have anything of an opening nature.  I don't know, Dr. Kaufmann, if you have anything or if we should just go straight to questioning.

My understanding is that Enbridge has the bulk of the questions for Dr. Kaufmann.

MR. CASS:  We do indeed have some questions, Kristi.  We were expecting that others would precede Enbridge in their questions for this particular witness.

MS. SEBALJ:  Precede?

MR. CASS:  Precede, yes.

MS. SEBALJ:  And I should have mentioned Enbridge did file questions ahead of time.  I'm not sure that that was the bulk of the questions, but I guess when we get to you we'll talk about those.  I'm assuming you have others, but those were the ones that might involve the most work, and so you were looking to give us a heads-up with respect to those.

MR. CASS:  That's a very good assumption.  Aside from whatever time we spend on the written questions, we do certainly have other questions but it won't be lengthy.

MS. SEBALJ:  Is there anyone else with questions for Dr. Kaufmann this morning?
Questions by Ms. Dullet:


MS. DULLET:  If I could start just by asking Dr. Kaufmann, so I'm here for the CME, Doctor.  We filed as part of our interrogatories at CME 1 the executive summary that you prepared in your reports, and we labelled it --- we numbered the paragraphs 1 to 19, and asked EGD for a response to that.  And they have responded in their materials.

My question to you this morning is whether you wish to reply to the response by EGD, Concentric, and London Economics?

DR. KAUFMANN:  Well, I think, in terms of a reply, since this is kind of an informational, fact-gathering sort of conference, I'm not going to make -- I wouldn't want to reply in terms of substance.  Obviously, I think there is some disagreements.  I differ with respect to Enbridge and its advisers on a number of issues, and I don't want to try to have that debate right now, so I don't want to have a one-sided reply, but there were a few factual statements that were either not entirely accurate or were taken out of context with regard -- particularly with regard to PEG's work.  And I can think of some things in Maine, some things in Alberta, and, to a lesser extent, some of the comments about the UK experience, but in Maine there were some reference in one of the paragraph responses that --


MS. SEBALJ:  Can I just interrupt for one second?  Would it be helpful for us to pull it up so people know what you are referring to?  We can pull it up on the screen in front of you and then...

DR. KAUFMANN:  Okay.  That's fine.

MS. SEBALJ:  Thank you.

DR. KAUFMANN:  Okay.  So is there a way for me to scroll through this?  I'm not sure which paragraph it is, but there's a paragraph -- at some point the CEA witnesses say that my work in this proceeding is at variance with PEG work elsewhere and that I think the only places where I see any justification for that are in Maine and Alberta.  So -- and I think primarily that point refers to the experience in Maine.  I'm not sure what paragraph that is.

MS. SEBALJ:  Would it help if I give you a copy, a hard copy, or...

DR. KAUFMANN:  Yeah, that would -- or if I can scroll through, I'm sure I can find it easily enough.

MS. SEBALJ:  I don't think we're that sophisticated.  I just gave it away.  EB -- sorry, yeah, there it is.

MR. CASS:  Would it perhaps be page 2 of attachment 1, Dr. Kaufmann, that you are referring to?

DR. KAUFMANN:  That doesn't get directly into the Maine experience.  Okay.  Attachment 1, correct.  Yeah.  Yes, it is all in the attachment; that's right.  Yes, this is page 2 of attachment 1, where -- there's some discussion here about the Maine experience, and there's a quote here, and the quote, it's -- this quote is taken off of a section of my ex-partner's testimony, Mark Lowry, some testimony that he gave in support of an O&M indexing proposal for Central Maine Power.

Central Maine Power had put forward a proposal where there would be indexing just of the allowed OM&A cost, and then there would be a type of separate recovery of forecast capital cost.  And my ex-partner Mark was testifying just in support of the OM&A component, but he was also making some remarks about the general context of this type of regulation plan.

And this comes out of a section of the plan where he talks about North American hybrids, and there is -- that section is distinct from another section of the plan which falls right below it, which is -- I forget what the title is, but it's something like "hybrids in other parts of the world", and he talks about the UK and Australia as examples of those types of hybrids.

So there's a distinction between the types of plans that are referenced in this quote and the building-block plans that Enbridge has likened its proposal to.  So this is distinct.  I think that's the first point to realize, is that there's not any support for -- Mark is not making any sort of support for a building-block plan, because what Central Maine Power has proposed is an example of what he calls a North American hybrid, not a building-block plan.  So there's no support whatsoever in this testimony for a building-block plan.

And in fact, if you look at some of the other language that he talks about that's not quoted here, the issue here is stair steps, what he calls stair-step recovery of capital cost, and he talks in other parts of this testimony, I think immediately after this quoted passage, where he talks about what -- the way stair-step adjustments for capital costs are typically calibrated in North American plants, North American hybrid plants, and he talks there about the role of indexing, that they are usually -- they are quite often indexed with construction-cost indices, and they look at the rate of return of capital, rate of return on capital.  So there's very much an indexing component in most of the, what he calls the stair-step plans.  So I just think that is one issue.

There's -- and there really is no variance between the critical comments that I've made about building blocks and the comments that Mark has made here in -- somewhat in support or in explanation of the hybrid plan that Central Maine Power proposed.  They're two different animals, and they are identified as such.

And I think it's also important to realize -- and I'm not sure why they necessarily think this precedent is relevant, because the Maine commission rejected this plan.  So the Maine commission actually looked at this proposal that had a multi-year forecast and rejected it and asked the company to come back with an inflation-minus-X proposal, very typical of the sort of plans that have been proposed and approved elsewhere.

So I just think that's one important point to make, is that when you look at the full context of this testimony it's clear that he's not supporting building blocks and there's no contradiction between Mark's remarks here and what I've said about building blocks.

There was also some testimony about the work in Alberta, and I believe CEA said that the Alberta Utilities Commission criticized the study that -- again, this is my partner, ex-partner Mark Lowry put forward in Alberta -- and it is true that they did make some critical remarks and they didn't ultimately accept that proposal, but again, if you look at the reasons why they didn't, the main reason by far was the confidentiality of the data.  Mark submitted a study that relied on the SNL database, which does not allow its data to be made publicly available.  You can use it in regulatory proceedings, but you can't put it on the Web.  You can't make those source data publicly available.

That was a very important consideration for the AUC at the outset.  They said at the outset that any productivity study had to use publicly available data, and because of that they rejected the study.  That was overwhelmingly their main criticism, and that criticism, if applied to this proceeding, would also rule out the CEA study, because the CEA study also uses SNL data that they had provided on a confidential basis.

So it's true that there were some criticisms there, but they related entirely to the confidential -- not entirely, but overwhelmingly to the confidentiality of the data.  And again, if that's considered a live issue in this proceeding, then, you know, then it would -- that same issue would, in fact, rule out the CEA study as well.

And finally, from Alberta, I remember there was some discussion about the alternate TFP trends that were presented there.  I believe I made a statement that -- trying to recall, but let me see if I can find that here.  Yes, and I should say that with respect to Maine, it's both pages 2 and 4 that reference the Maine experience.

Yes.  This is on page 13, the reference here to paragraph -- paragraphs 13 and 14.  And Concentric responds -- the first lines of response are that:

"First, PEG's claims that Concentric's TFP study yields markedly lower estimates than credible estimates that have been presented elsewhere is false."

And there are a number of ellipses here.  If you actually look at the text that is being ellipsed and that's being omitted from this quote, you'll see that what I'm talking about are markedly lower estimates of gas distribution TFP studies.  I was making a very specific claim about gas distribution TFP studies.  All of the studies that are cited below here, purportedly to support the idea that this was a false statement, all applied -- none of them apply to gas distribution studies.

There were no gas distribution TFP studies in Alberta other than the study that was submitted by Mark Lowry.  The other studies that are mentioned here, the estimates from Brattle and others relied on either StatsCan studies or modifications of electricity distribution studies.  And they also reference my TFP study for the electricity distributors in Ontario.

I should say that all of those, there's an issue here both about the studies themselves and whether they are viewed as credible.  As I say, there were no credible studies.  And none of these studies in Alberta were in fact accepted by the AUC, so they were all rejected as well.  So that doesn't really support the view that those were considered credible.

That's not the case for the other TFP study, that was -- they mention, which is the electricity distribution TFP study that I did for Board Staff in the RRF and in support of what was called price cap IR.  That was accepted by the Board, but that's my study and in my opinion that study is not relevant to this proceeding.  We should not use an electricity distribution study to set or to even consider appropriate estimates for gas distribution TFP.  Those are two different industries.

I've never supported using electric TFP studies for gas distribution.  Gas distribution has different output growth, different cost drivers, different patterns of capital replacement, all kinds of things that can impact TFP.  In my opinion, there's no relevance or -- no relevance of or implications from that TFP study that I did for electric for an appropriate TFP trend for gas distribution.

And just very briefly, London Economics said a couple things about -- which may have been -- could potentially be misconstrued, about the whole issue of building blocks and the repeated nature of regulation and the implications of that for the building block model.  And -- oh, and one of the things they said in discussing that was they were talking about my discussion of the UK experience, the UK building block experience.  I believe they said several times that I posited a theoretical model for building blocks, and that -- that type of regulation, and that's not an accurate characterization of how I described that.  What I was doing was looking specifically at the observed experience.  I wasn't making any theoretical -- I wasn't developing any theoretical models.  I was looking directly at the experience, which did in fact evolve over time, based on repeated interactions between the regulator and the regulated companies, and the gaming and inflated capital expenditure forecast in particular that the regulator noted after administering different applications of the building block model over a period, a number of years, 10, 15 years.

So I was just describing that experience; I was not making theoretical claims.  And I also talked about the information quality incentive as something that they did eventually adopt in the UK.

I'm not making any recommendations that that type of incentive be implemented here, but I do think it's important.  An element of the IQI is benchmarking.  That is how the IQI starts.  That's the benchmarks that capital expenditure forecasts are compared to.  I do think it's important that there be some type of benchmarking, external objective evidence, benchmarking evidence.  I believe that's an important -- that should be an important component of this proceeding.  And that's really the claim I was trying to make in terms of the UK experience, the importance of benchmarking and the fact that the regulator there, as an attempt to offset the inherent incentives to the game projections that they discovered, that they observed over multiple iterations of the building block model, that they have gone to a very benchmarking-intensive regulatory approach.

So that's the point I was trying to make.  I just don't want anyone to come away with a conclusion that I'm recommending an information quality incentive here.  That's not what I'm recommending.

MS. DULLET:  Thank you for your reply.  I don't have anything further.
Questions by Mr. Brett:

MR. BRETT:  I have one follow-up on that.  Tom Brett from BOMA.  The decision of the Maine commission you referred to and the evidence of your former partner Dr. Lowry, are those part of the record now here?  Or could you give us now or by way of undertaking just a reference where we can get those two documents?

DR. KAUFMANN:  Yes, I can do that.

MR. BRETT:  Do you need a number for that?

MS. SEBALJ:  We do.  That will be TCU1.1.
UNDERTAKING NO. TCU1.1:  Dr. Kaufmann to PROVIDE DECISION OF MAINE COMMISSION AND EVIDENCE OF DR. LOWRY.

MS.SEBALJ:  Does anybody else have any questions for Dr. Kaufmann other than Enbridge?  I see no one reaching for their mics, so I'll turn it over to you, Mr. Cass.
Questions by Mr. Cass:

MR. CASS:  Thank you, Kristi.  Dr. Kaufmann, as you know, I'm Fred Cass and I'm here for Enbridge Gas Distribution.  I just wanted to start first with the written questions that were sent by Enbridge on January the 13th.

Can you give me a sense of how -- or maybe Kristi can help me -- how we will proceed with the responses to those questions?  Do you have responses today, or will we be awaiting those responses?

DR. KAUFMANN:  I'm prepared today to address the frost depth question, which I believe was number 6, so I can address that one today.

The others, let me see.  I don't have that in front of me.  Could we pull that up on the screen?  Oh, I recall one was -- yeah, one is fine.  I can find out -- let me just say I was not involved in this proceeding, did not bill a single hour to the CCA -- or is it the CCC -- in Alberta.

So for these questions, I do have to go back and ask other people in the office that were involved in this, to ask them these sort of details, but I can do that for number 1.

Number 2, we can --


MS. SEBALJ:  Sorry.  Why don't we just mark those as we go along, because I'm assuming that you are comfortable giving an undertaking to do that.

DR. KAUFMANN:  I am.

MS. SEBALJ:  So that -- so this is with respect to Enbridge's I.A1.STAFF.EGDI.12a.  I just want to make sure I have the reference right.

MR. CASS:  Sorry to interrupt.  Would it make sense to mark the document as an exhibit, as a reference point for what we're talking about as we go forward here?

MS. SEBALJ:  Because it did come in as correspondence, didn't it?  Sure.  So we'll mark this document -- sorry, I don't have it in front of me either anymore.

It's a letter from Enbridge providing questions in advance to Dr. Kaufmann and it's dated January 13th, 2014.  And we'll mark it TC1.1.
EXHIBIT NO. TC1.1: LETTER FROM ENBRIDGE TO DR. KAUFMANN DATED JANUARY 13, 2014.

MR. CASS:  Thank you.  I don't know whether this will expedite things, but I do gather, then, Dr. Kaufmann and Kristi, that questions 1 to 5 will be undertakings and then we'll have some discussion here of 6?

DR. KAUFMANN:  I have some comments on some of these others.

MS. SEBALJ:  Why don't we go through them one by one?  I think you're right; some of them will be undertakings, but some of them we need to speak to.  So let's just go to number 2 now.

DR. KAUFMANN:  Okay.  Number 2 is fine.  I can provide those work papers.  Yeah, there was a follow-up, April 2012 report, that was primarily -- but that's fine.  I can do that.

MS. SEBALJ:  Sorry, so that's -- I'm going to keep interrupting you.

DR. KAUFMANN:  Sure.

MS. SEBALJ:  Very annoyed by me.  That's TCU1.2.
UNDERTAKING NO. TCU1.2:  Dr. Kaufmann to provide a response to EGDI TCQ 2

DR. KAUFMANN:  Okay.  Now, for number 3, I'm fine with 3A and 3B.  Those are basically calculations that can be -- that I can do based on the report that was actually submitted in Alberta, but C, D, E, and F, in my opinion, are overly burdensome to -- it's not -- and maybe I can just step back a little bit and talk a little bit about the Alberta work, because I did mention that in my report.

And what I did there -- let me just explain what I did and why I did it.  What I did is I referenced an existing report from Alberta, and I said, Here is a report that has been submitted.  It's been vetted.  It wasn't ultimately approved by the regulator because of concerns with the confidentiality of the data, but it's still, in my opinion, a credible source of productivity and input price research, and the reason I did that is because I had gone through an extensive assessment of the company's proposal.  I thought there were some, in my opinion, significant flaws with that proposal.  I didn't know whether those flaws could be remedied in the time available, but I was not asked by the -- by Staff to prepare an alternate or counter-proposal, so I haven't done that.   I have not put forward an alternate or counter-proposal here.  All I did was say, Here's a source of information.  If for whatever reason parties can't find -- can't agree on a customized IR framework without significant changes that Enbridge wouldn't agree to, if they can't do that, and they are looking perhaps during settlement or during another part of this proceeding for a source of information that could potentially be used to develop an alternate proposal, here's the source of information.

So I'm just pointing people in the direction of something that I think could be valuable, but I'm not recommending that as a study.  I didn't undertake an alternate proposal on my own.

And given that, given that I'm not submitting this as evidence and making this my proposal, to add two years to a data set and -- that's not just kind of, you know, put the numbers in, pull the -- you know, turn the crank and get a new number.  That's a significant undertaking.  And I don't believe it's reasonable to ask us to do that in four days.

So C through F I think are unduly burdensome, but I can point you in the direction of a new PEG study which is in British Columbia, done for a consumer group, and I knew this  study was in the works while I was writing my report, but it wasn't publicly available yet, so that's why I relied on the Alberta study, but now that study is out there, and it does go through 2011, so if Enbridge is interested in what PEG's estimate of a TFP trend through 2011 is, I would point you in the direction of that study in B.C., and I can make that available.  That's a publicly available document.  So I'm willing to do that, but other than that, I'm not going to ask people in the office to do new work when we've already kind of done that for another client.

For number 4, again --


MR. CASS:  Sorry, can I just stop you there?  My --


DR. KAUFMANN:  Sure.

MR. CASS:  -- apologies, Dr. Kaufmann.  So we can -- you will answer 3A and B, and --


DR. KAUFMANN:  I will answer 3B.

MR. CASS:  And will you produce the B.C. study?  Can we wrap that all up in one undertaking?

DR. KAUFMANN:  I will produce that study.

MR. CASS:  Thank you.

DR. KAUFMANN:  Yes.

MS. SEBALJ:  So it will be both the answers to A and B, 3A and B, and the production of the publicly available study, are TCU1.3.
UNDERTAKING NO. TCU1.3:  Dr. Kaufmann TO PROVIDE THE ANSWERS TO EGDI TCQs 3A AND 3B, AND TO PROVIDE THE PUBLICLY AVAILABLE B.C. STUDY

DR. KAUFMANN:  Yes, that's right.

For number 4, again, I -- because I did not formally proffer this study as my own or make it the basis for a proposal here, I don't think -- in my opinion it's not appropriate for me to go back and adjust that data and run alternate runs of a study that's part of a proceeding that's over and settled.

So, you know, I think, in my opinion -- and I'm not a lawyer.  I'm only an economist.  But in my opinion, this is out of scope for this proceeding.  I'm not putting this forward as evidence, and I don't see why I need to run alternate analyses.

I can tell you, though, that we looked at -- we've examined the Concentric study, their TFP study, and the issue here is, what is the impact of customer service and information expenses on the TFP trend.

Customer service and information expenses were not included in the TFP trend in Alberta, but they were included in the Concentric study, and so we have looked at the impact on Concentric's TFP trend if they had eliminated customer service and CSI expenses, and if they would have, then the TFP trend would have declined by about 34 basis points.

So I can put that forward as an estimate, a rough estimate, of the impact of CSI expenses on TFP trends in the gas distribution industry, and this is part of the record here, it's part of Concentric, so it's easy enough for others to check our work and check the accuracy of that calculation.

So that would be my response to number 4.

MR. CASS:  Well, I don't want to argue with you here, Dr. Kaufmann, about relevance.  You've stated your view on that, or about what you call the scope of the proceeding.  Clearly Enbridge is interested in having this information for the purposes of testing your views provided in this proceeding and considers it to be relevant.

Do you have a concern about actually doing the work?  Other than your relevance concern, is there any problem with doing the work?

DR. KAUFMANN:  The work can be done, but again, everyone is very busy at the office right now, and this is -- you know, to do this in four days, I'm not even sure we can get it done.  There's much higher priority work that has to be done.

MR. CASS:  I see.  So just to be sure I understood, it could potentially be done in four days, but because of other work going on, that would be a problem for you.  Is that what you are saying?

DR. KAUFMANN:  That's correct.

MR. CASS:  All right.  Well, we'll leave it at that.  We don't need to argue about it today.  I assume, Kristi, that you are supporting the witness's view?

MS. SEBALJ:  Absolutely.  And I guess I would also refer parties to the original letter wherein we stated what Dr. Kaufmann's retainer was, and it wasn't to provide alternate proposals.  It was to provide a critical analysis of the proposal before us from the applicant.  And so I think this is treading into an area that we had not intended.  Having said that, we can have the argument, and if the Board orders it, the Board orders it.

I just wanted also, though, for you to clarify.  Does the B.C. study help in any respect with respect to CSI?

DR. KAUFMANN:  I don't believe so.  I believe the B.C. study also excludes CSI expenses, but I can confirm that.

MR. CASS:  So, yeah, so we won't argue about it today.  Now, Kristi, you did, just in -- what you said there, you referred to the -- you didn't use the work "instructions", but the scope of what Dr. Kaufmann was asked to do.  And I wonder, could the instructions provided to Dr. Kaufmann in connection with this proceeding be produced?

MS. SEBALJ:  Absolutely.

MR. CASS:  Thank you.

MS. SEBALJ:  We could mark that as TCU1.4.
UNDERTAKING NO. TCU1.4:  TO PROVIDE THE INSTRUCTIONS PROVIDED TO DR. KAUFMANN IN CONNECTION WITH THIS PROCEEDING

MS. SEBALJ:  And just to be clear, you're talking about the RFP document?

MR. CASS:  I just need to see the --


MS. SEBALJ:  Or the contract?  I'm not sure that there is much difference between the two, in terms of -- I think we just transposed what we asked for in the RFP into the contract, but, yeah, we'll get you what you need for you to understand what his instructions were.

MR. CASS:  Thank you.

Sorry, Dr. Kaufmann, so I guess we're on to question 5.

DR. KAUFMANN:  Okay.  Yeah.  And on question 5, I do wonder, and I question the relevance of this question.  It's referring to the econometric work that we did for Board Staff in the electric IR proceeding, the econometric work.

I haven't proposed any econometric work in this proceeding.  I haven't done any work.  And this is a model that's been thoroughly reviewed, thoroughly vetted and approved by the Board, so I don't understand why there's any relevance for trying to look at that, because it's not something that's -- the econometric for coefficients there don't have any implications for Enbridge, wouldn't be proposing those for Enbridge, so I just don't understand why this is a relevant issue.  And, you know, in the interests of time constraints and budget implications for OEB, I just don't understand why it's worthwhile to pursue issues that in my opinion aren't really relevant for what I consider -- what I'm proposing and what I would consider relevant for Enbridge in this proposal.

MR. CASS:  Okay.  Well, again, I'm not going to debate it with you.  You've given your position.  So is there anything that you feel that you will or can provide in response to question 5?

DR. KAUFMANN:  I can say that we did put together what we called an algorithm, which was a way for the electric companies to look at the econometric model that was developed in that proceeding, and they could test different scenarios.

So part B of this, you are asking the impact of a 1 percent change in customers on cost.  And that algorithm, what we call the algorithm, is -- that's something you can use to run those scenarios, and do that on a company-by-company basis.

That's another part about this question.  It's not clear which company you are asking for, and the numbers, the answers, will vary from company to company.

So I could refer you to that algorithm; that's something you can look at to get a sense of how that works, and you can look at it for different companies.  But that algorithm is not relevant to Enbridge, because Enbridge has different cost drivers.  The coefficients that would be estimated for Enbridge would be different.

MR. CASS:  I'll take you up on your offer with respect to the algorithm, and we'll leave the rest of it.  We won't debate the rest of it today.

DR. KAUFMANN:  Okay.

MS. SEBALJ:  So we'll mark that as TCU1.5, but the algorithm is in the public domain?

DR. KAUFMANN:  It is, yes.  That's on the website.  It's the last set of things that we issued in that proceeding, so it's part of that.
UNDERTAKING NO. TCU1.5:  DR. KAUFMANN TO PROVIDE THE ALGORITHM USED TO RUN SCENARIOS, or access to it; more precisely, the sample mean values for independent variables and the sample mean for costs

MR. CASS:  I've just been told something that I didn't actually pick up on.  As we're going through Exhibit TC1.1, I had noted Question 1 as Undertaking 1.1, but actually 1.1 was to provide the Maine document.  So did we miss an undertaking number for the first question in TC1.1?

MS. SEBALJ:  I didn't think so.  In fact, I remember -- but this says number 2, doesn't it?  All right, then.  So instead of trying to renumber these, can we just have the undertaking with respect to question 1 -- let me make sure that's indeed what you did.  Yes, you did give an undertaking in that respect.

And we'll just mark it TCU1.6.
UNDERTAKING NO. TCU1.6:  DR. KAUFMANN TO PROVIDE A RESPONSE TO EGDI'S QUESTION NO. 1

MR. CASS:  Thank you.

MS. SEBALJ:  Sorry about that.

MR. CASS:  No problem.  Then, Dr. Kaufmann, I believe that brings us to Question 6, and you indicated you have something to say on that one?

DR. KAUFMANN:  Yes.

MR. CASS:  Thank you.

DR. KAUFMANN:  Part A here is:

"Provide your understanding of how frost depth affects a gas distributor's O&M costs."

And the preamble here talks about some testimony that I gave for National Grid/Boston Gas, where I was testifying in support of an O&M escalation formula.

And we've looked at this issue for a number of years, and I do think there is some relationship between frost depth and what -- frost heave, which the company has also mentioned as being an issue.  And essentially -- I'm not an engineer, but essentially the way it works is that frost heave is frost that builds up underneath gas pipes, moves in the direction of the surface, and because of that, because there's upward pressure on the pipes from frost building underneath, that can lead pipes to crack and there can be gas leaks.  And that imposes costs on the company to identify and fix those gas leaks.

And there's clearly a link between that phenomenon and frost depth, because if you have no frost depth you won't have frost heave, and if the frost depth is relatively low then you can -- you can set your pipes in a place where the frost will be above it, and so then it won't be below and won't be putting upward pressure on the pipes and creating that sort of issue.

So to the extent that you have that the frost depth is greater, that creates the potential for more frost heave, which does have implications for gas distribution costs.

But it's important to recognize that frost heave is overwhelmingly associated with -- the implications for frost heave for cost are overwhelmingly associated with cast iron and bare steel pipe, and not with plastic pipe.  And I think it's pretty easy to see why, because those are very rigid materials, and if you have a rigid material and then you have frost pushing against it, that material is likely to crack, and that would be something that you have to -- the company would have to respond to.  Plastic is much more pliable, so when you have frost pushing against it, plastic rarely cracks in response to that.  So there is a correlation, a very strong correlation between frost heave and the types of materials.  It's -- and you find that overwhelmingly associated with an older gas distribution main that's been constructed with either cast iron or bare steel.

Now, it just so happens that in the parts of North America where you have a lot of cast iron and bare steel main, those tend to be older, more established cities in the northern part of the US, and in Toronto historically.  And a lot of those cities still have very significant amounts of cast iron and bare steel in a lot of those systems, in places like Boston and New York and other cities like that.

So there's a correlation.  There's a correlation between heating degree days and general coldness and frost depth and the percentage of mains that are bare steel and cast iron, but that last link is really just coincidental.  It just happens to be that because those were older cities and older systems, they have got more of their pipe constructed with cast iron and bare steel.

But we've noticed that when you run frost depth and if you have a regression, a cost regression, and you include frost depth and the percentage of cast iron and bare steel as independent variables, what you find is that cast iron and bare steel is a significant cost driver; frost depth isn't.

So the overwhelming cost driver there and the implications for frost heave, based on our research, doing this for 15 years or more, is that it's not the frost heave itself.  It really is the frost heave combined with the pipe materials, and if a company has -- is operating in a cold climate and it has a lot of cast iron and bare steel main, then there will be more cracks in the pipe, there will be higher O&M costs and -- associated with that.

Now, what's relevant about all that is that Enbridge is a company that operates in a cold climate, has frost depth, but they've had a program of replacing nearly all their cast iron and bare steel main.


And that was really the point I was making in my critique when I was talking about the heating degree days, is that it's not heating degree days itself that's important for costs and these sort of O&M costs and a lot of the factors they identified, for example with frost heave.  It really has to do with the composition of the materials.  And if you look at a peer group of companies that are operating with -- under similar climate, then you can pick up a spurious correlation, because what you are really picking up is that a lot of those companies, yes, they're in cold climates, but they have high percentages of cast iron and bare steel main, whereas Enbridge doesn't, because Enbridge has replaced it.

So if you do a straight comparison and you're not controlling, then it can be misleading.

And I can tell you working with Bay State Gas and others, Bay State, this was a huge issue.  They have been trying to -- they have gas leaks all over their territory.  They thought it was a safety issue.  They know it's putting lots of pressure on their O&M costs.

And that's what you see.  That's what you see when companies have lots of cast iron and bare steel.  They have very high O&M costs associated with that.  But it's not because of the heating degree days; it's because of the frost depth.

So that was really the issue I was trying to make, and I believe that in part of my report I do talk about that and I talk about cast iron and bare steel, and I say that's correlated with heating degree days, but the point I was trying to make was that that's the real concern.  And if you want to do even peer group benchmarking, in my opinion you should be looking at companies that have similar levels of cast iron and bare steel, and that would put -- those sort of companies would be Atlantic Gas Light, Public Service of North Carolina, a lot of companies in the southern part of the US, which are newer systems with a lot of growth, but they were ruled out because they are not cold weather climates.

So that's my understanding of that general issue about frost depth, how it relates to frost heave, and how it relates to the sort of issues we've been talking about here.

MR. CASS:  Earlier on in that answer, Dr. Kaufmann, you said there's a very strong correlation between the importance of frost heave and the types of materials, and had wanted to ask you what you base that on.  I think you touched on that later in your answer.

Is it a specific analysis that you're basing that on?

DR. KAUFMANN:  It's based on my experience with companies that -- two things, both on the statistical analysis we've done, where we have both of those as explanatory variables, and we find that percentage of cast iron and bare steel dominates.  So that's the significant cost driver.

So if you have two, they might both be significant to some extent, but that doesn't mean you can identify independent, statistically significant independent effects associated with frost depth.  The overwhelmingly statistically significant effect is associated with the composition of Maine.

So there's our statistical analysis and the work I've done with companies in the industry that are struggling with this problem and just what I've learned from them.  And I've also seen some written materials that I can, you know, that I can send you or can, you know, provide as an undertaking that support this general -- you know, that support generally what I've been saying in my views.

MR. CASS:  If you could do that, please.   I don't want to ask you for all the analysis that you're aware of, but if you could just generally provide the support for what you've said.

DR. KAUFMANN:  I can do that.

MS. SEBALJ:  That's TCU1.7.
UNDERTAKING NO. TCU1.7:  Dr. Kaufmann TO PROVIDE WRITTEN MATERIALS THAT SUPPORT his VIEWS

MR. CASS:  Now, would I take it from your answer then that as far as you're concerned, to the extent that companies are installing or maintaining new pipe that's either plastic or coated steel, they don't worry about frost heave?

DR. KAUFMANN:  I wouldn't say that they don't worry about it, but I just don't think it's a significant cost driver.

MR. CASS:  And do you have any views about the differences in types of plastic pipe, as far as the flexibility that you've referred to is concerned?

DR. KAUFMANN:  No, I don't.

MR. CASS:  Okay.  And then just one final question in this area.  The written questions were separated into O&M costs and capital costs, and I take it from what you've been saying in your answer that you agree that, where there is this impact of frost heave it can be in both areas, O&M and capital.

DR. KAUFMANN:  I think it's overwhelmingly, again, based on my analysis and my discussion with, you know, with people in the industry, I think it's overwhelmingly on O&M, and it's related to leaks and responding to leaks.

Now, when you replace the pipe, and you would replace the sold -- I mean, that's an expensive process.  At that point, when the pipe is replaced, then it becomes a capital issue, but then what you're really doing, that's capital -- basically a capital O&M substitution.  You are substituting, you know, more expensive and more reliable pipe for older and less reliable pipe.  So that's when it would show up.

MR. CASS:  Yes.  All right.  Thank you.  So just -- I was really just bringing your attention to the final question in the written questions, if you have that -- oh, it's on the screen in front of you.  So is what you've just said your response to the final one of the written questions?

DR. KAUFMANN:  Yes, I think the response is indirect -- I would say that the impact of frost depth on a gas distributor's capital costs happens indirectly when the gas distributor needs to replace old cast iron and bare steel pipe because of problems associated with frost heave.

MR. CASS:  Thank you.

I have some general questions for you, and they are quite general.  I just wanted to start from your report in which you assessed the Enbridge proposal in this case.  Do you have that available to you?  Or perhaps --


DR. KAUFMANN:  The entire report?

MR. CASS:  Well, I'm going to take you -- unfortunately there's two sets of page numbering.

DR. KAUFMANN:  Okay.

MR. CASS:  I'm going to take you to what is page 26 in the original numbering of the report, and then it's -- according to the page numbering by exhibit number, I think it's page 29.  So in the bottom right-hand corner it's number 26, and the top right-hand corner it says page 29.  Are you with me?

DR. KAUFMANN:  Yes, I am there.

MR. CASS:  And right at the bottom of the page it says "PEG has always supported well-designed ECMs", and if I recall correctly, ECM stands for earnings carryover mechanism?

DR. KAUFMANN:  Efficiency.  Efficiency carryover.

MR. CASS:  Thank you.  Good thing I got you to correct me on that.  Efficiency carryover mechanism.

And what do you consider to be well-designed efficiency carryover mechanisms?

DR. KAUFMANN:  In my opinion, the whole concept of the efficiency carryover mechanism -- and the first application of it started, actually, in the UK in the water sector, Ofwat.  The water regulator developed the first ECMs.  That's my understanding, at least.  And those were pretty good ones, and I thought the ones that they implemented in Australia immediately afterwards, which were designed around the -- designed to mimic and replicate the Ofgen or the Ofwat mechanisms.  I thought those were good.  Those were mentioned -- here they're -- I believe the acronym is EBSS.

So in my opinion, the Australian ones are the ones I was familiar with when they implemented them back in 2005.  I was working for the Victorian regulator at the time, and they implemented them.  So I would -- those were the ones that I thought were -- I would say that those are well-designed ECMs.

MR. CASS:  And the ones that you consider to be well-designed, what are the features of them that cause you to think -- see those ones as being well-designed?

DR. KAUFMANN:  A couple things.  They're focused very specifically on the issue of what happens, of creating -- of creating consistent incentives throughout the incentive plan.  And in the absence of an ECM -- and again, this is something that was discovered through experience with regulation -- it was recognized that companies -- the first year of a plan, great incentives.  They cut costs.  That happens.  But then as the plan goes on, cost-cutting goes down and down, and a lot of times in the last year of the plan there were at least allegations that companies were padding costs as a way to kind of pad the, you know, the foundation for forward-looking costs going forward.

So the ECM was designed to offset that incentive, perhaps, by creating consistent incentives to pursue efficiency gains throughout the whole plan.

The Australian plans do that because they look at the difference between actual and predicted or benchmark costs, what were allowed as benchmark costs, in each year of the plan, and they phase those differences out consistently over the term of the existing plan and into the next plan.  And they are specifically designed to create consistent incentives.  And they examined that question very carefully, both Ofwat and in Australia.

So I think that's the key issue.  They look at -- they're focused very directly on what is the issue associated with ECM, which is -- ECMs, which is the timing of efficiency gains, and they are focused specifically on making sure that the incentives to pursue efficiencies don't fall off at the end of the plan.

MR. CASS:  Okay.  I got your answer about the objectives that an ECM is aimed at, and I understand that.  My question was more related to design features of an ECM that you would support to achieve those objectives, and the one thing I heard was a design would be consistent through the term of the plan.

DR. KAUFMANN:  The design itself would look at -- in Australia they looked at the difference between actual and predicted costs in each year, and then they'd phase that out over the term -- over -- basically over a five-year term.  So the idea was, no matter how long you -- no matter what year you pursued an efficiency gain, you would keep the benefits of that gain for five years.  So that's where companies become neutral with respect to pursuing efficiency gains.  So that is the design feature that I think is relevant there, the fact that companies keep incentive gains for -- the gains from efficiency initiatives for a common number of years regardless of the year that the initiative took place.

MR. CASS:  Good.  And that's good.  So where I was going with my previous question I was going ask you next, are there any other design features that would cause you to support a particular ECM as the one you've described earlier, or are there any others?

DR. KAUFMANN:  I think I would -- that's certainly the key one.  I would have to look at -- you know, I'm not saying that that's the only way it can be done, but I would have to look at specific proposals to see if, you know, in my opinion, they achieve the same objective in a different way.

MR. CASS:  Do you agree with the Board's objective for incentive regulation to encourage sustainable efficiencies?

DR. KAUFMANN:  Yes, I do.

MR. CASS:  And would you agree, then, that incentive regulation should be -- the incentives within incentive regulation should be aimed at sustainable efficiencies, as opposed to short-term cost-cutting?

DR. KAUFMANN:  Yes.

MR. CASS:  Thank you.  Just a couple of questions for you arising from the RRFE, if you don't mind.  Under the RRFE there is several models discussed, one of which is called custom IR.  Would you agree that under the custom IR model for electricity distributors, as described in the RRFE report, that such a model would not have to use an I-minus-X formula?

DR. KAUFMANN:  Yes, it does not have to use an I-minus-X formula.

MR. CASS:  Things are going much more quickly.  And just one other question.  Would you agree that the methodology for custom IR under the RRFE can take into account the circumstances of the particular utility?  And I'm referring to methodology.

DR. KAUFMANN:  Yes.  Yes, and I think that's something the Board -- it's part of the Board's rationale for a customized IR.

MR. CASS:  Okay.  Thank you.

So I think I just have one last area, then.  That went quite quickly.  And it's page 47 of your report.  I just wanted to pick up on one other -- page 47.  Yes, top or bottom.  Good point.

Bottom right corner of page 47 in the conclusion, second last sentence; you're describing some conclusions about Enbridge's plan, and in that context you say this plan can also contain Y factors that recover the costs of large capital projects.  Are you with me?

DR. KAUFMANN:  On page 47, at the upper right?

MR. CASS:  Bottom right; my apologies.  So it's your conclusion, in the second-last sentence.

DR. KAUFMANN:  Okay, yes.

MR. CASS:  There is a reference to the fact that a plan can contain Y factors that recover the costs of large capital projects.

DR. KAUFMANN:  Yes.

MR. CASS:  Now, would it be your view that Y factors can be structured in a manner to help an applicant get some certainty around the recovery of the costs of large capital projects?

DR. KAUFMANN:  Yes, I think that's reasonable.

MR. CASS:  And what about the situation where an applicant comes in for a term, say, of five years, but there really is uncertainty out in the latter years of that term about actually what the large capital projects might need to be.

Do you see -- I'm just asking for your comments.  Do you see that Y factors can help with that at all?

DR. KAUFMANN:  Yes, I think so.  A Y factor application and mechanism can be implemented in a number of ways, and it can be something like a tracker so that it's designed to track expenditures, more or less every year, subject to a prudence review by the Board.

So if there is uncertainty and they can't be predicted in year one, you can still monitor the actual expenditures year-by-year.

You can make a prediction, an assessment projection on where they will be in year five, with the understanding there is some uncertainty around that.

But then they can be tracked year-by-year, and there could be protocol in place for the company to provide information on the costs, and some sort of information supporting the reasonableness of the costs as the project goes along.

So a Y factor can be structured in that way, to allow for uncertainty and yet provide some evidence for the Board to be in a position to still assess the reasonableness of the costs.

MR. CASS:  That’s helpful.  And just for absolute clarity to be sure we're talking about the same thing,  I'll describe two different situations.

An applicant has specific capital, large capital projects that it's aware of and it's can describe to the Board for the purposes of Y factor; that's the one category.

And the other category would be, as we've talked about, more uncertainty about capital projects in the latter years of the term of the plan.

And if I understood your answer correctly, a Y factory can be structured to cover each of those categories.

DR. KAUFMANN:  Yes.

MR. CASS:  I think just one final question.  Assuming the evidence is that -- by an applicant, that there are a number of these requirements, assuming the evidence is there, do you see any limitation on the number of Y factors?

DR. KAUFMANN:  Any limitation?

MR. CASS:  Yes.

DR. KAUFMANN:  What do you mean exactly by limitation?

MR. CASS:  I am just saying that assuming the evidence is there to support a number of Y factors, do you see any principal basis that the number should not be as great as what the evidence would support?  Is there any principal basis to say we should not have too many Y factors?

DR. KAUFMANN:  Well, I think in general you don't -- I think everyone accepts that regulation should not be burdensome for the company or for the commission.

So if you make the Y factors too open-ended and too large, then that could create some potential burdens.  So I can there being a concern in that respect, but I don't know what the magic number would be.  I mean, in general -- you know, I think Y factors would work better if they’re applied to relatively targeted, well known project that's are known in advance, because these are supposed to be projects where you know the costs are there, unlike a Z factor.

So, you know, I think that makes sense.  But that doesn't mean there has to be only one or two.  I mean, there could be a number of different things that qualify under that criteria.

MR. CASS:  Okay.  Thank you, Dr. Kaufmann, those are my questions.

MS. SEBALJ:  Yes.

MR. QUINN:  Is it appropriate -- I know this isn't a hearing --


MS. SEBALJ:  I know.  I was just going to ask if anyone had anything coming out of that.
Questions by Mr. Quinn:

MR. QUINN:  Yes, thank you, I do.  Dr. Kaufmann, Dwayne Quinn on behalf of FRPO.

Mr. Cass was going through with you the -- your understanding of frost heave, which, as an engineer, I think you did a pretty good job of describing, and you correlated to O&M effects and the difference of material of pipe.

I thought the question that was going to come out didn't, and I want, for the record, to understand.  Have you done any studies, or had any experience with the issue of depth of cover that a utility undertakes because of its known frost conditions; so the extent that northern climates are prone to frost, they may bury their pipe deeper to try to avoid and mitigate some of those risks, whereas a southern utility not exposed to those types of conditions has a shallower depth of cover, and therefore it impacts the capital costs?

DR. KAUFMANN:  I'm not familiar with any work that -- that talks about how deep the pipe is laid in the north versus the south.

MR. QUINN:  I just wanted to clarify that point, because intuitively, that's where capital costs could have a marginal impact.  And yet you don't have experience to, or studies that support that.

DR. KAUFMANN:  I don't have any information one way or the other.

MR. QUINN:  Okay, thank you.  That's my one question,  thank you.

MS. SEBALJ:  Anybody else have anything for Dr. Kaufmann?  All right then.  I think we're -- thank you so much.

It's quarter to eleven.  Do we want to press on, or take the break while we get the next panel up?

MR. CASS:  It would probably make sense to take the break.

MS. SEBALJ:  Okay, let's take the morning break until eleven, and move to the next panel, which is model design, the Enbridge panel.  Thanks.

--- Recess taken at 10:44 a.m.

--- On resuming at 11:03 a.m.

MS. SEBALJ:  All right.  Why don't we get started again.  Before -- there was a discussion on the break with respect to Undertaking TCU1.5, which was Dr. Kaufmann's undertaking to provide the algorithm related to the RRF, and the result is an amendment to that undertaking.  So he will provide the algorithm or access to it, but more precisely, the sample mean values for independent variables and the sample mean for costs.  So that's the amendment to that.

And unless anyone has anything that's arisen over the break, I'll turn it over to Mr. Cass.

MR. CASS:  Yes, thank you, Kristi.  Before we turn to the panel that has taken their seats in the witness stand, of the questions that were received from other parties, there are isolated ones here and there, a few, for which we don't actually have a witness on any panel, and rather than making the panels even bigger than they are just for isolated questions here and there, I think Andrew can answer some of these questions, and so I'll turn that over to him.

MR. MANDYAM:  I'm not sure how you'd like me to proceed, but I was going to -- there's five particular questions.  The first one is from VECC.  It's from a letter and submission dated January 13th.  It's VECC number 11.

Do you want me to read the question and then read the answer, or state the answer?

MS. SEBALJ:  I'm just trying to pull up for my purposes.  So this is VECC's -- what they provided in answer to the Board's request to let you guys know what they had?

MR. MANDYAM:  Exactly.

MS. SEBALJ:  I think similarly then it probably isn't marked as an exhibit, so why don't we find it.  So this is dated January 13th, correspondence from VECC in response to Procedural Order No. 4.  So why don't we mark that entire document TC1.2.
EXHIBIT NO. TC1.2:  CORRESPONDENCE DATED 13 JANUARY FROM VECC IN RESPONSE TO PROCEDURAL ORDER NO. 4.


MS. SEBALJ:  Go ahead.

MR. MANDYAM:  Okay.  Question 11 on -- there's no page numbers, but it's the second-to-last page in my copy.  The question is 11A, and it says:

"Can EGD confirm that it will not seek, in the future, file to 'recover or clear the amounts which were incorrectly recorded in the PGVA' referred to above?"

And, yes, Enbridge can confirm that we will not be seeking anytime in the future to recover or clear those amounts that were incorrectly recorded.  That's the first one.

And then the balance of mine are all with the School Energy Coalition submission.  So you might want to...

MS. SEBALJ:  Yeah, that one -- at least I'm sure there was a cover letter, but the document itself is -- has the style of cause at the top, if I'm not mistaken, and it's marked "Technical Conference Questions from the School Energy Coalition", and we'll mark it TC1.3.

Exhibit NO. TC1.3:  DOCUMENT ENTITLED "TECHNICAL CONFERENCE QUESTIONS FROM THE SCHOOL ENERGY COALITION"

MR. MANDYAM:  Okay.  This isn't an answer, but this is information to everybody around what School Energy Coalition called SEC 3.  It pertains to Board Staff.4, page 2, and it's a question to "please restate the table including the impacts of correcting the accounting error referred to".

Because of vacation schedules and the people that are actually going to produce that, and the complexity of that, we won't be able to get that to everybody before the, I think it's January 23rd undertaking deadline, but we will be able to get that to everybody before ADR starts on January 27th.

MS. SEBALJ:  Sorry, which one is that, Andrew?

MR. MANDYAM:  It's SEC-3, first page, third question down.

MS. SEBALJ:  Okay.  So let's mark it as an undertaking then.  It will be TCU1.8.
UNDERTAKING NO. TCU1.8:  EGDI TO provide a response to SEC Technical conference question sec - 3 and RESTATE THE TABLE, INCLUDING CORRECTING THE ACCOUNTING ERROR REFERRED TO

MS. GIRVAN:  What specific error is it talking about?

MR. MANDYAM:  It's talking about --


MS. GIRVAN:  The earnings error?  Okay.

MR. MANDYAM:  Yes.  Yes.

Okay.  The next question where I can give an answer is SEC-33, which is on page 5.  Reading it in, it's:

"Please confirm that the Applicant is not proposing to use a stakeholder consultation process, similar to that used for the last two customer care settlements, to provide stakeholder input and oversight to the proposed customer care procurement.  If confirmed, please advise why."

The answer is, we will be.  Enbridge will be performing a stakeholder consultation, and it relishes going ahead and doing that, to add emphasis.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can I just follow up on that?  You're going to use something similar to the working group the last time, or are you proposing something different?

MR. MANDYAM:  No, the same working-group approach.

MR. SHEPHERD:  Okay.  Thanks.

MR. MANDYAM:  That's SEC-33.  We're moving to SEC-37, which pertains to an attachment -- page 2 of an attachment that was provided to FRPO number 9, an interrogatory response, and in that presentation, page 2, it showed a declining amount of ombudsman contact numbers from 2010 down to 2000 and -- I think it was til 2013.

The question pertains to:

"Please advise what information the Applicant has on the whether the cause..."

Well, let me just read it in my words.  Please advise what information the applicant has as to the cause of the declining ombudsman contacts is (sic).  And then it lists five particular choices.

The answer is actually none of those choices.  The answer is the declining balance from total ombudsman contacts from 14,719 in 2010 to a number near proposed or year-to-date in October of 5,373 in 2013.  In 2010 that was the effect of our completing the transition to our new CIS system.  We had transition -- a higher number of calls during that period, from 2009, when we put it in service, and then going into 2010, and in fact, some of you might remember a budget billing issue that got some -- a little bit of media during that 2010 year, and that's what that spike is.  So the rest of it is steady state, business as usual.  There's no real decline.

MR. SHEPHERD:  Okay.  Can I just ask then, have you reduced the resources allocated to the ombudsman, in fact, over that period?

MR. MANDYAM:  I'll have to go check that.  I don't believe so, but I will go double-check that answer for you.

MR. SHEPHERD:  And have there been changes in personnel that could have an impact on the office?

MR. MANDYAM:  On the office in which way?

MR. SHEPHERD:  On the office of the ombudsman.

MR. MANDYAM:  Oh.  I don't believe people were changed at --


MR. SHEPHERD:  Less resources, reduced level of positions, stuff like that.

MR. MANDYAM:  Oh, I can confirm it.  I don't believe we've changed any of that staffing levels in that group for the past five years.

MR. SHEPHERD:  Similar to what it was five years ago.

MR. MANDYAM:  Yes.

MR. SHEPHERD:  Okay.  I don't think we need an undertaking for that.   He'll tell us if that's not correct.

MR. MANDYAM:  Next.  That's SEC-37.  And the last one I have is SEC-46 on page 7:

"Please confirm that the Applicant proposes that the Board treat incremental Community Expansion costs, as set forth in the Applicant's future application, as a Y factor."

The answer is, it could be a Y factor.  But we can't at this time -- we don't even have it defined, our community expansion proposal, to any great degree, where we can say yes to Y factor or no to Y factor.  In fact, we don't have a -- we're leaving it open, in essence.

MR. SHEPHERD:  Okay.  So that's why I asked the question, because this is the proceeding in which you are setting your rate structure, the framework for your rates for the next five years, and if it's not a Y factor, then are you then proposing that that next application will be an amendment to this application?  And I'm just, I'm asking the technical, procedural question.

MR. MANDYAM:  Okay.  Well, I can't say yes or no to any of that.  I don't think it would be an amendment to this particular application, and I'm just trying to -- yeah, that would be my answer right now.

MR. SHEPHERD:  See, I guess what I'm concerned with is that if we finish this proceeding and there's no Y factor, then if you apply for community expansion money, we're going to say, No, sorry, you don't have a Y factor.  Go away.  And we would be right.  So I just want to lay the procedural ground work.  Can you perhaps provide us with a more fulsome response to this so that we can --


MR. MANDYAM:  Yes, I'll take it back -- yes, I'll take it back to the team there, and we'll -- with what you just said.

MR. SHEPHERD:  Thanks.

MR. MANDYAM:  Okay.

MS. SEBALJ:  I think we do need an undertaking for that.   It's TCU1.9.

MR. SHEPHERD:  Thanks.
UNDERTAKING NO. TCU1.9:  EGDI TO PROVIDE A MORE FULSOME RESPONSE TO SEC Technical Conference Question SEC - 46

MR. MANDYAM:  Okay.  Those are the extent of the answers that I have.

ENBRIDGE GAS DISTRIBUTION - PANEL 1


Ryan Small


Ralph Fischer


Sagar Kancharla


Jim Coyne


Julia Frayer


MR. CASS:  So I assume we're ready to proceed with Enbridge's first panel.  Kristi, you've already indicated that Enbridge has sent out the agenda.  It describes the panels and the order of the panels, and it gives just a general description of what each panel is addressing.  I assume that everybody has that so they will be aware of what the particular panels are addressing.


I'll just quickly introduce the people on the first panel and then turn them over for some questions.


Sitting furthest away from me is Ryan Small.  He is a senior regulatory analyst.


Next to Ryan is Ralph Fischer, director, regulatory special projects.


Then Sagar Kancharla, director of business performance.

Next is Jim Coyne from Concentric.

Finally, Julia Frayer from London Economics.


That's the panel and they are ready for questions.


MS. SEBALJ:  I think in terms of order, Board Staff, which, will be Dr. Kaufmann, will start with the questions, unless anyone in the room is jumping at the chance to go first.  Thanks.
Questions by Dr. Kaufmann:

DR. KAUFMANN:  Thank you.  I first have just some general questions, and the first one is on CME Interrogatory 1, on page 5 of the response.  Is it possible to get this up on the screen?
On this page Enbridge, says that:
"The risk of adverse consequences in later proceedings resulting from a determination that EGD inflated cost estimates in this proceeding is a real risk..."


I was wondering if you can just outline the adverse consequences that Enbridge could potentially experience in later proceedings if it has inflated cost forecasts for the customized IR plan.


MR. KANCHARLA:  I just got to the exhibit here.  Could you repeat the question?


DR. KAUFMANN:  The question is:  Please outline the adverse consequences that Enbridge could potentially experience in later proceedings if it has inflated cost forecasts for the customized IR plan.


MR. KANCHARLA:  I think what we're referring to here is, because of the forecast costs and if the actual expenditures are higher, whether it is capital expenditure or the operating expenditures, Enbridge is at risk to invest in them but not have an opportunity, a reasonable opportunity, to earn a fair return.


DR. KAUFMANN:  Okay.  The question was for later proceedings.  So the statement here is the risk of adverse consequences in later proceedings, so not so much the ability to recover costs in this proceeding, but if -- if the Board would, say, discover at the end of this plan that Enbridge -- if it comes to the conclusion that Enbridge has in fact inflated its cost estimates as the basis for the customized IR plan, there was a claim that the company could be at risk in later proceedings, and this is something that Enbridge is saying here.  You are saying there's a risk of adverse consequences in later proceedings resulting from costs -- inflated cost forecast.


So that's the question I'm asking:  What would happen in later proceedings, concretely?


MR. CASS:  Dr. Kaufmann, could you point us a little more directly to the wording your relying on about a risk of adverse consequences?  We're just having difficulty getting our eyes on it.


DR. KAUFMANN:  It's the first full sentence on this page:
"The risk of adverse consequences in later proceedings resulting from a determination that EGD inflated cost estimates in this proceeding is a real risk to EGD."


MR. KANCHARLA:  In terms of the consequences, what we're referring to here is, at the rebasing time, all the costs which are not forecast but incurred by the company, you'd want to do a prudency test in terms of the eligibility of inclusion, for example, on the capital side, inclusion into the rate base.  So there is a risk there in the later proceedings on -- if we were to inflate these cost estimates and are not able to prudently prove that these are legitimate costs, that's the risk to the utility at the rebasing time.


MS. FRAYER:  If I can just add a sentence from my perspective looking into this -- and though it's not a legal perspective, it's a layman's interpretation -- I understand that the Board also has capability to impose sanctions if there is in fact intentional misconduct.


DR. KAUFMANN:  Okay.  But I'm not sure whether that is true or not, or whether --


MR. FISCHER:  Mr. Kaufmann, of I can maybe add a little bit to what Mr. Kancharla was suggesting?  So clearly during the IR term we're at risk for most of the costs that we expect to spend over that five years.  And so to the extent that we spend more than that, both on capital and operating but primarily on capital, the risk, I think, that's talked about here is the risk at rebasing, that they would be recovered in the rebasing year.


So clearly, during the IR term we're at risk for recovery of those costs, in that we don't earn a return on that until rebasing; but the further risk, I think, that's described here is the risk that those costs are disallowed during the rebasing year as well, that some demonstration of imprudence or something is demonstrated.

So that's how I understand this sentence.


DR. KAUFMANN:  In terms of that latter scenario, if the Board were to find that there was a cost that was inflated and that was recovered in rates during the customized IR plan, and then they said that that activity wasn't prudent and they took that -- they disallowed that cost at rebasing, then that would just be -- wouldn't that be just neutral in the sense that they are just correcting for a mistake, so there wouldn't be really any adverse consequences?  It would just be kind of a correction of a mistake; is that correct?


MS. FRAYER:  I think if you look at the relationship over the long term, one could say there would be adverse consequences in the sense that, from that point on, any other forecast that the company would be providing would be under additional scrutiny.  There will be explicit and, I would say, material burdens on the company that may not have otherwise arisen from an actual administration perspective of the regulatory program, because I think there would be -- and not directly just from the Board but I think from all stakeholders, that the company isn't truthful with its forecasts.


And that can happen under any type of regime, under an I-minus-X regime with rebasing, or under the customized IR plan regime that's being proposed.


DR. KAUFMANN:  Okay.  I have another related question to this.  It's a bit more general, but it's related to the general -- to the same general issue.


Given the information presented in the application or the information filed with the Board while the plan is in effect, please explain how the Board will be able to determine whether an observed difference between actual and forecast costs has resulted from inflated cost estimates on the one hand, or efficiencies and cost savings the company has achieved on the other.

How will the Board be able to tell the difference?


MR. FISCHER:  So I think the evidence is clear in our application that the cost estimates that we're making for the next five years, both operating and capital, that we'll be challenged to meet those costs, and so I think what we've done in this application is, through extensive evidence, supported both the O&M and the capital forecasts and, I would suggest, demonstrated that we are in fact challenged by that productivity, we've demonstrated in the applications embedded both in O&M and in capital, and at the end of this proceeding upon OEB approval we would suggest that that would recognize that embedded productivity and that challenge that we expect over the next five years.

So to the extent that we are able to find further efficiencies, you know, we're challenged to do that as well, and as you're aware, we have both an earnings sharing mechanism and a sustainable efficiency incentive mechanism, two mechanisms in place that incent the company to find further efficiencies.


So what I would suggest, Mr. Kaufmann, is if in fact we are able to, you know, reduce costs, either O&M or capital, beyond what we're applying for in this application, that they are most likely due to us finding further efficiencies and not some mis-forecast over the next five years.

DR. KAUFMANN:  So the Board would look at what's happening to your actual cost as a way of determining that any gap between actual and forecast cost is in fact associated -- is due to finding efficiencies and not inflating costs at the outset; is that correct?

MR. KANCHARLA:  Yeah, one of the things we are proposing through our customized IR model is, at the end of each year we are proposing to file a productivity initiatives report.  So that report will have the productivity initiatives information at the end of each year.

So in addition to what Mr. Fischer has alluded to, this is another piece of information that will be available at the end of each year of the term.

MR. SHEPHERD:  Okay.  I can ask a follow-up question?  Can I do it along the way, rather than...

Mr. Fischer, it sounds like -- and I'm not trying to put words in your mouth; I'm trying to understand what you are saying.  It sounds like what you are saying is that the -- once the Board has approved a revenue requirement over the five years or allowed revenue over the five years, that then it must be presumed that your estimates were correct and that any difference after that must necessarily be due to new efficiency measures, that it's a presumption that is built in.  Is that what you are saying?

MR. FISCHER:  No, I'm not, not exactly.  What I am saying is that, you know, the forecast -- whether -- there are forecasts, so they're not going to be correct, they are going to be incorrect.  All forecasts are incorrect.

What I am saying is that embedded in those forecasts is productivity, and that we make the case that we're going to be challenged to meet those costs over the next five years; and to the extent that we're able to further find reductions in costs, that they would probably most likely be through finding further efficiencies.

MR. SHEPHERD:  Yes, sorry, I have obviously worded my question inelegantly.  What I'm trying to get at is whether you are suggesting that the approval by the Board of the budget then puts the mis-forecast question aside.  You can't have overstated your costs, because they have already accepted them.  Is that implicit in what you are saying?

MR. FISCHER:  I think approval from the Board would demonstrate that in fact our cost forecasts, both capital and operating, and O&M, have embedded efficiency in it.  That is what approval would demonstrate.

MR. SHEPHERD:  Thank you.

DR. KAUFMANN:  Okay.  I have a couple questions on Z factors, and the first concerns page 6, the same interrogatory response, page 6.  And here the company says that:

"The 'unexpected cause' language properly captures the goal of a Z factor, which is to provide protection against extraordinary changes in costs that were not expected at the time rates were set."

And I'm just wondering if you can cite any Board decisions that support the view that the goal of Z factors is to provide protection against extraordinary changes in costs that were not expected at the time rates were set.

MR. FISCHER:  No, we do not.

DR. KAUFMANN:  Can we post that as an undertaking?  Okay.  Okay.  All right.  And I was also wondering whether you could explain whether the inflation factor in a rate adjustment formula also provides protection for changes and costs that were not expected at the time rates were set.

MR. FISCHER:  So Mr. Kaufmann, that would be in context of an I-minus-X framework?

DR. KAUFMANN:  That's correct.

[Witness panel confers]


MR. COYNE:  Perhaps I can respond to that, because we've looked at the inflation factor and I factor with some depth.  In the context of an I-minus-X program, an I factor is designed to capture the -- a general measure of inflation in the economy, typically.  As used in the past year in Ontario it's been the GDP IPI.  But I don't think one could argue that that's a perfect measure of what a utility's costs are going to be on an ongoing basis, and in the context of the plan as proposed by the company, it has embedded inflammation factors in various elements of its forecast for both O&M and capital.

We have estimated a composite I factor for the company, but I would say even there and then there are probably two reasons why they will not be fully reflective of changes in costs over time.  One is your ability to forecast the elements of an I factor.  As you recall, we have recommended a three-factor I factor for labour, materials, and capital.  But we know that's still a high-level inflation factor, even though it's designed to be somewhat utility-specific.

And -- but if one were to use a more general I factor in the forecast, it will also vary according to what the company's experience actually is, in terms of the actual unit cost required to implement its plan.

We know that any company, when implementing its plan on a five-year basis, will run into challenges that it didn't anticipate, and it will probably run into efficiencies that may be greater than those that they had anticipated, so for all those reasons I don't think the I factor would be a fully accurate reflection of costs over time, but it's designed to be a measure, a trend line, a benchmark, so to speak.

DR. KAUFMANN:  Okay.  Just to clarify, not a perfect reflection of unexpected costs?

MR. COYNE:  Well, unexpected in what sense?  There's expected in terms of within the overall aggregate I factor.  There will be errors associated with that.  We think inflation right now is around 2 percent.  It could be 3 percent.  And then there's unexpected in terms of specific circumstances associated with the company system.  It may run into reliability issues that it needs to address that just simply weren't included in that portion of the capital forecast.  So certainly an I factor wouldn't reflect those.

DR. KAUFMANN:  Okay.  But just to clarify, under an inflation-minus-X plan, the I factor is not something that the company would forecast multiple years in advance.  That's something that would change year on year based on actual measured inflation, whatever inflation factor is selected as the inflation factor.

MR. COYNE:  Typically, yes, in which case you'd be subject to the second form of IR, it reflecting the actual company cost experience.

DR. KAUFMANN:  Okay.  The next question -- anyone else?  The next question is in response to Board Staff interrogatory 11.  This is again on Z factors.

MR. LISTER:  Dr. Kaufmann, would you mind reading out the issue number associated with each of the IRs as you address them?  It might help to navigate.

DR. KAUFMANN:  The issue is A1.  I believe all my issues are A1.


In this response -- so you can see the question here, which is:
"Please explain how Enbridge will assure the Board that any cost that Enbridge proposes to Z factor were not previously part of the group of variable costs that the company has excluded from its customized IR plan."


And the variable costs are a cost component that you've excluded, and the company has argued that the exclusion of these costs is a source of efficiency gains that are built into the plan.


And Enbridge's response says that:
"Though it is providing a forecast of potential variable costs, they were not included in the capital budget and Enbridge is taking the risk that the variable costs will be included and spent during the IR term.  As such, the costs do not meet the Z factor criteria that the costs be linked to an unexpected cause."


But the issue here and the question is:  How does this address the concern that the company will assure the Board that any cost that you do propose to recover through a Z factor application -- assuming that a Z factor application takes place -- what type of assurance do you plan to provide to the Board that those costs were not something that was previously excluded from the application, and now the company has proposed to recover those through a different mechanism under the customized IR plan?  How is it possible to do that unless those variable costs have been identified, itemized and quantified?


MR. FISCHER:  I am going to ask Mr. Kancharla to speak to the detail on the variable costs, and maybe I'll just do that now in terms of the detail that we provided and the comfort in terms of excluding that from Z factor treatment.


MR. KANCHARLA:  What I was going to refer to, Dr. Kaufmann, is in our capital-related evidence, if I can refer to Exhibit B2, tab 1, schedule 1, page 29.


We provide here a list of projects and capital projects and programs where we talk about firm and variable costs over the 2014 to 2016 years.


So these are some of the examples to your question on what assurance the Board gives.  So you can see lots of these programs are related to system integrity and reliability programs.  So this is a list, one of the lists that we would look at, to say these are variable forecasts and not necessarily qualify for the Z factor treatment.


DR. KAUFMANN:  Thank you.  That's helpful.


So is that -- do you have a complete list of all the variable costs that you've identified and that you've eliminated from the application, and then included those as a source of efficiency gains?  Is there a complete list, or is this the only list that has been provided?

MR. KANCHARLA:  The capital panel will be able to speak to, but subject to check, I think we have a list of all variable programs and costs identified.


DR. KAUFMANN:  Okay.  Thank you.
Questions by Mr. Quinn:

MR. QUINN:  Just before, Dr. Kaufmann, you carry on, if I may, I think I heard Mr. Kancharla say these are eliminated and would not be included as Z factors; is that correct?


MR. KANCHARLA:  That's correct.  The programs, as even the interrogatory response that Dr. Kaufmann was referring to that we answered, respond that any of these variable cost programs will not be included for Z factor.


MR. QUINN:  Thank you.  I just wanted to make sure that I heard right.


And now that I have an opportunity, I didn't hear the end of the answer that Mr. Coyne provided.  I was seeking to hear what I thought Dr. Kaufmann's question was, is the protection that is afforded by an I-factor.


In two sentences or less, is it your view that there is no protection afforded by an I-factor?


MR. COYNE:  Just to clarify, are you referring to protection for the company or for customers or both --


MR. QUINN:  To clarify, I think I heard you.  I just don't know if the court reporter heard.  Yes, I'm using "protection" in the generic, but if you want to segment it between protection for the company versus protection for the customers, I would be pleased to hear your answer.


MR. COYNE:  Let me deal with it in the generic first, and then we can parse it, if that is helpful.


What I was saying was that an inflation factor in the context of I-minus-X, or even a forecast inflation factor, will be an imperfect estimate of what the future cost trends are going to be, regardless of how it's constructed.  We have attempted to divide it into labour, capital and materials to have a better chance of approximating a utility's cost inflation.  But it will be imperfect in the sense that it captures the general industry trend, and it will also be imperfect because it will not capture the specific circumstances that may or may not impact a given utility over the course of the rate plan.


So there are two courses of error associated with I-factor.  And in that sense, it's a risk both for customers and for the company.  It's a risk that it will be inadequate as far as the company is concerned; it's a risk that it will be overcompensating insofar as customers are concerned.


MR. QUINN:  So a specific protection measure it is not; is that the summary?


MR. COYNE:  No.  It's really an imperfect -- it's a trend line.  I mean, when we stop and think about the advent of I-minus-X-type regulation, the idea was to decouple actual utility cost from the rate trend, in order to motivate the utility to drive further efficiency into its system.  And in that sense, it was designed not to be -- I suppose you could say -- a perfect parallel for utility costs, but nonetheless, I minus --- there's some effort which is extended in the context of establishing incentive rate programs, to know that there is an inflation measure that is utilized that's at least associated with utility cost drivers, however imperfect they may be, either GDP IPI or a composite index, as used by the Board in the RRFE or as suggested by us in the context of this proceeding.


Does that get to your question?


MR. QUINN:  I think so.  And I'm relieved that Dr. Kaufmann and Board Staff seem to have moved on.  So if they have got it, it's less important that I've got it, but I didn't hear you use the word "protection" in any of your description.


MR. COYNE:  To the issue of protection, I guess you could say protection in the sense that it builds in some measure of knowledge that there is going to be inflation in prices in the overall economy and in specific cost drivers that affect the utility's cost.  So in that sense, it builds in some degree of protection.  It's just an imperfect measure, almost regardless of how you use it, either I-minus-X or building blocks, in this case.


MR. QUINN:  Thank you.


Sorry, Dr. Kaufmann.  I just wanted to make sure I understood.

DR. KAUFMANN:  I have a few questions, then, on Y factors, and the first one is in response to Board Staff Interrogatory No. 9.


The question here is:
"Please explain why the company cannot adjust the amounts proposed through the Y factor or a similar mechanism to fully recover all of its projected costs over the 2014 to 2018 period."


And Enbridge responded that it's reviewed the choices and -- and deciding on which available incentive regulation model would be best, would best meet the objectives, determined that the customized IR plan would be best.


I'm wondering if you could identify any capital spending initiative that was considered a Y factor, and also any capital spending initiative that was not considered to be a Y factor in this sort of analysis that you undertook in terms of the various scenarios and whether a Y factor approach would allow the company to recover its cost.

MR. KANCHARLA:  Dr. Kaufmann, again, if I would refer to the evidence that this interrogatory is referencing, which is I-minus-X challenge in Exhibit A-2, tab 1, schedule 3, where we talk about the six scenarios.  So it's on page 7.


So the Y factors at our analysis that we crunched out are for the major projects, like the GTA reinforcement project and the Ottawa reinforcement project.  That's what we have developed in scenario 2.


DR. KAUFMANN:  Okay.  Do you have a list of -- so these are the only initiatives that were considered as Y factors for the scenarios, so I guess it's safe to assume all other capital spending in the proposal was not considered to be something that was -- that could be Y factored?


MR. KANCHARLA:  That's correct.  Only in our revised customized IR plan, where we asked for variance accounts for year 2017 and 2018 for mains replacement and relocation lots.


DR. KAUFMANN:  Okay.  I was wondering if you could just explain your rationale for determining which of those capital spending projects, I suppose these -- the capital spending projects under these six scenarios, what's your rationale for selecting these as Y factors in the analysis and interpretation section of the application?  These, as opposed to other initiatives?

[Witness panel confers]


MR. KANCHARLA:  In our customized IR plan proposal the biggest challenge that we are facing is the increased capital spent, and in choosing the Y factors we looked at very distinct large projects, and as the Y factor definition is, it is known capital projects, and also which can be quantified for the analysis.


For example, when we look at our system reliability, other capital projects, where definitely there is increased capital pressures, it is challenging to isolate those projects and to be treated as a Y factor.  So that's one of the criteria we established in defining which projects that we need to consider as Y factors for our analysis.


DR. KAUFMANN:  Okay.  Thank you.  I have a number of questions too about the SEIM, the updated SEIM, S-E-I-M.  That's the acronym I'll use.  I don't know if that is a common acronym, but -- and these are all related just in general to the exhibit that presented the SEIM, so I don't have specific -- in general, I don't have specific page numbers associated with this, but I was just wondering how Enbridge plans to calculate the NPV of long-run benefits under the new SEIM proposal.  If you could just briefly describe the calculation that you intend to use to actually calculate the NPV of long-run benefits.


MR. FISCHER:  So Dr. Kaufmann, at the Board's request, we are developing an illustration, a numerical illustration, in terms of how we see the sustainable efficiency incentive mechanism working.  We're just about ready to present that in this proceeding, but it won't be ready until after lunch.


So if possible, I think a lot of the questions, particularly the one that you just asked, you know, that might be the easiest way to do it.


DR. KAUFMANN:  Okay.  That's fine.  In terms of that -- yeah, that's fine.  I'm sure that will answer some of these.

And will the benefit calculations there only include cost reductions, or will it include improvements in quality, reliability, or other outputs?  So on the benefits side, are benefits only cost reductions, or can they be broader?


MR. KANCHARLA:  It will also include the avoided costs as well, so it's in addition to the cost reductions.  If some initiatives are taken that will result in some avoided costs, they would be included.


DR. KAUFMANN:  Okay.  But you don't propose to quantify any changes in reliability or safety or anything of that sort?

MR. KANCHARLA:  It doesn't go into the NPV calculations.  There is definitely some criteria we'll walk through in the afternoon, whether it's related to some of the SQRs.  There is a criteria that the utility needs to meet to qualify for the SEIM.


DR. KAUFMANN:  Okay.  Thank you.


And this next question actually gets into some of the questions I was asked about ECMs and about designing ECMs to pursue efficiency gains throughout the entire term of the plan.  On paragraph 14 of page 5 of Exhibit A-2, tab 11, schedule 3, the company says the purpose of the SEIM is to reduce incentives for utilities to pursue efficiency gains in the latter years of an incentive plan.  And I'm just curious about how explicitly the updated SEIM addresses the timing of efficiency gains, and more specifically, how does it over -- how does this new SEIM overcome disincentives to pursue efficiency gains at the end of the IR plan, when it's based on average returns over the entire five-year period of the IR plan and doesn't treat earnings from latter years differently from earnings in earlier years?


MR. FISCHER:  So Dr. Kaufmann, in our evidence we describe the SEIM as being very much similar to the incentive efficient carryover mechanism as implemented in Alberta.  The proceedings that ultimately resulted in the approval of an ECM in Alberta, I read some of that material quite a while ago, but there certainly was a lot of discussion around that very topic.


So the ECM, at least the portion of the SEIM that is identical to the Alberta ECM, is looking at the allowed ROE versus the earned ROE, and that is identical to what is happening in Alberta with their ECM, and it is being designed in Alberta to do that very thing.


So looking at the difference in average ROE over the five years was designed to incorporate the efficiencies throughout the IR period.  In fact, a main driver or motivator to develop the ECM was to incent and/or encourage utilities to find efficiencies right through the IR term and not hold back or pull back in the last year or two, and that's what this does.


You know, if you're talking about another mechanism with a different weighting, I'm sure there was some discussion of that at the AUC proceeding.  I wasn't there, but at the end of the day this is what they landed on to accomplish that very objective.


MS. FRAYER:  If I could add a few words to what Mr. Fischer said.  I think the proposition of Enbridge's proposed SEIM is actually an improvement, in my opinion, on what is done in Alberta, because the ROE component, which we've been talking about, is actually really only one component of the SEIM as being proposed by Enbridge.


In fact, to address the question you were asking, which is the timing question, the timing of efficiency gains, if you go through the step-by-step example that was in Enbridge's exhibit with updated SEIM, it's very clear that the award is going to be measured as a function -- for simplicity primarily --- as  a function of the difference between the allowed ROE and earned ROE, but in fact the trigger points for establishing whether a SEIM and ESM type of award is deemed to be appropriate in the first place, is going back to a measurement of the actual achieved benefits, sustainable benefits, efficiency gains to consumers, and it's related back to the award amounts such that customers will only be --- well, effectively the idea being that you're looking at the timing of efficiency gains and ensuring that those are more than the award component.

So the ROE piece isn't going to be the sole trigger, as it is in Alberta.  There are other triggers that relate directly to productivity gains.

MR. COYNE:  One further point on that I should note, that the ESM should motivate -- the earnings sharing mechanism should motivate the company in every year of the program, regardless of the SEIM.

DR. KAUFMANN:  Yeah.  No, I understand the link to the Alberta, the approved Alberta, and I understand the changes that the company has made, but those changes do apply to the NPV.  So they -- that's based on an NPV assessment over the entire term of the plan.  So in both cases my question is:  What about the issue about the timing of plans, the timing of incentives within the term of the plan?  And my understanding is that -- I mean, I haven't heard a specific answer in response to that, other than the -- this is what was approved in Alberta and this issue must have been vetted and considered appropriate in Alberta.

And if that's the case, I mean, I would be interested in any language or any sort of documents you can point to that show that the Alberta commission actually considered this issue, which is critical for having an ECM work appropriately.


MR. CASS:  Dr. Kaufmann, might you turn up Exhibit A2,tab 11, schedule 3 -- sorry, I know I said that fairly quickly -- A2, tab 11, schedule 3, at the bottom of the page, page 4.  I'm not sure if that's what you are talking about, but if you could take a quick look at that.

DR. KAUFMANN:  I'll acknowledge that the AUC did find that.  So you are just essentially resting -- essentially you're saying that because this is an improved mechanism and one commission found that this was the case, then you're accepting their finding that this is in fact the case?  Even though there is no distinction within the term of the plan for earnings in the latter years versus the early years; is that correct?

MR. FISCHER:  So we view the AUC decision as an important precedent in this regard with respect to an efficiency carryover mechanism.  To my knowledge, it's the only one in Canada.  I'm not sure if that's the case or not.

As I suggested earlier, Dr. Kaufmann, there were extensive deliberations, which you may have been part of, even -- I don't know -- that ultimately got to the point where the AUC accepted this as an appropriate mechanism to incent long-term sustainable efficiency.

DR. KAUFMANN:  I'm trying to understand your rationale for specifically why this addresses the timing, the issue of the timing of the efficiency gains.  If your answer is that it was approved in Alberta and this was an issue that was extensively vetted there, then that's fine.

I'm just trying to understand why you think this approach in Alberta, that you've taken from Alberta, actually addresses the issue.

[Witness panel confers]

MR. COYNE:  I'm not sure that my point registered, though, regarding the earnings sharing mechanism that should motivate the company every year of the plan regardless of the SEIM.

And they work in tandem.  I think you're well aware that the parameters of these plans all set motivating elements and they do work in concert.  So I don't think the SEIM is working isolation from that standpoint.

MR. KANCHARLA:  Just to add to what Mr. Coyne has mentioned here, Enbridge feels that even the early years' programs or the initiatives that are undertaken for efficiency gains have benefits that could be beyond the IR term as well.  For that reason, all the years in the IR term are given the same importance to pursue the --- the sustainable efficiencies.

MS. FRAYER:  If I may add -- because Dr. Kaufmann, I heard you earlier using Australia as an earlier example of ECM mechanism that you thought had very valuable properties -- I believe in Australia there is no distinction between -- in the EBSS between specific years.  There is carryover for the next period.  That's really the key, and we have that same carryover too.  We're not -- in Australia they don't look at just the last year of the term and carry over that amount.  There is a constant, a rolling carry-forward.

DR. KAUFMANN:  That's true, but each year is considered distinct, so in that sense they certainly do treat -- they don't average over the five years.  That's the critical feature that I was talking about.  It's not an average; it's year-by-year they look at the difference.

MS. FRAYER:  Well, and the allowed ROE versus actual ROE would be looked at for the reward year by year as well.  The net present value calculation is meant to also take into account the timing element, effectively, and discount for that, but we did want to discourage efficiency gains effectively in the short term unintentionally, by introducing this long-run sustainable efficiency incentive mechanism.

So the idea was to take all efficiencies achieved, document those, and then use that as a basis for requesting a reward for carryover.  And that reward or award, if you will, is the one that will be the -- if you will, the carrot for management to pursue sustainable efficiencies in the long run.

DR. KAUFMANN:  That's fine.  Just to clarify, my question is just the fact that this is an average calculation.  It's based on an average over five years.  And the ECMs that I was talking about in Australia are not an average; they are based on an assessment of year-by-year, with each year considered distinct.

And that was a critical element, in my opinion, for why those in fact create appropriate incentives year-by-year.  So that's all I'm really asking, is the average, the multi-year averaging, versus the year-by-year focus.

MR. COYNE:  One thought occurs to me on this, and I hadn't thought about it previously.  If one thinks about -- it seems to me like an implication of your question would be that you might weight later years in the program heavier, then, in order to ensure the company is fully motivated right through the end of the plan.

So if that was the desire, then one might weight the excess ROE in the latter year by a heavier month than you would in the earlier years, if I understand the implication of the question.

But if you did that, my concern would be that you would then underweight the value of programs that occur in year 1, and it seems to me that from a customer standpoint, you would want the company fully motivated right from the very first day of the program, to be seeking the maximum efficiency that it could right out of the box.

So I'm not sure that the end result, if it is to weight the end of the program heavier, would serve an overall desirable effect in terms of the incentives it creates for the company, if you follow my logic.

DR. KAUFMANN:  I do, but an NPV would actually do the opposite; is that right?  An NPV calculation would weight latter years less heavily than current years; isn't that correct?

MR. COYNE:  I'm not sure if that is what you are suggesting.  You're talking about just the ROE component of the SEIM?  The ROE trigger, the five years?

DR. KAUFMANN:  In this case, I'm talking about the company's enhancement of the Alberta approach, which is to look at the NPV of benefits created over the entire plan.

And that would actually do the opposite; that would put less weight on -- under a typical NPV calculation in latter years relative to earlier years.

MR. COYNE:  But if you did that, if you put --- again, I want to be clear.  You're talking about just the five years within the plan?

DR. KAUFMANN:  That's correct.

MR. COYNE:  If you were to do that and then to underweight as a result of NPV, put less weight on the latter years in the program, I'm not sure that that doesn't run counter to the initial premise of your question, your concern about the company basically relaxing in the last year of the program to wait for the next.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can I ask a follow-up there, because now I'm completely confused?

The Australian mechanism gives you basically four years of incentive for savings you deliver in the last year of the plan, or five years, I guess, of incentive.  And four years for the second-last year of the plan and three years for the third-last year of the plan, and so on.

So it weights it more heavily in the last year, right?  That's what the Australia method does?  I'm looking at it on the screen.  That's why.  It has a chart.


MS. FRAYER:  So I think using the word "weighting" is probably a little bit dangerous.  I think the way that I would think about it is that -- and Dr. Kaufmann was, I think, accurate in that description -- is that it's a year-by-year assessment, and it carries forward, regardless of when the actual generation or term ends, so that, for example, if there was efficiency gains against forecast operating expenses made in year four of a five-year plan, then the company doesn't lose those at the time of rebasing, and 100 percent doesn't go to consumers at the time of rebasing.  They get to share some of that reward into the next term of the plan.


MR. SHEPHERD:  No, I understand that.  I guess what I understand their plan to be is, if you have savings in a given year of the plan, then you will get those savings -- you'll get the benefit, you, the company, will get the benefit of those savings for five years, and it doesn't matter whether it's in year one or year five that you deliver those savings.  But if you deliver them in year one, then you'll get them because the plan already builds it in.  You're under IRM, so savings go to you.  If it's in year five, you're going to rebase, but those savings carry over, so the carryover mechanism delivers year five, right?


MS. FRAYER:  Mm-hmm.


MR. SHEPHERD:  So -- but in essence it's creating an equivalent impact for savings no matter what year.  Isn't that right?


MS. FRAYER:  Yes, with some adjustment, because it's not 100 percent, so --


MR. SHEPHERD:  No, no, obviously.


MS. FRAYER:  -- there's percentage-sharing elements to it too.


MR. SHEPHERD:  Of course, as there is during the plan with earnings sharing.


MS. FRAYER:  Although Australia doesn't have one.


MR. SHEPHERD:  No, I understand.


MS. FRAYER:  Okay.


DR. KAUFMANN:  Thank you.  One final question on the SEIM, and this relates to an aspect of the company's proposal that is different than Alberta, and that is, obviously the company's actual ROE is going to depend on the prices it charges, and under the customized -- or under the proposed customized IR plan, that's going to depend on Enbridge's projected costs over the term of the plan, so it therefore follows that EGD's projected costs are going to factor into the calculation of the SEIM award, and I just wonder how Enbridge will demonstrate to the Board that the entire difference between its actual ROE and allowed ROE that's the basis for the reward is due to efficiency gains achieved over the term of the plan and not from cost forecasts that may be inflated which are embedded into allowed prices and therefore earned ROE.

MR. KANCHARLA:  I'll respond, and others in the panel will add some of their thoughts as well.  So there are a couple of ways to look at the assurance.  One is, we will be filing the productivity initiatives report on an annual basis, so that will provide the details on the program's benefits and costs.  And the other way is in terms of checks and balance against the inflated cost.


The criteria that we are establishing for the SEIM award is the net present value calculation, so if we were to inflate the cost, the NPV calculation would take the benefits and costs, so it would hurt the NPV calculation, so we really need to demonstrate the benefits are greater than the costs for a particular productivity initiative.


From that perspective there are some checks and balances in terms of the costs and benefits for any individual program.


MR. COYNE:  I guess I would add, at the very highest level on this issue of understanding where productivity is coming from versus the forecast differences, we had an extensive hearing on this issue in Quebec a couple months ago, and -- where stakeholders raised many of the same issues in regards to Hydro Quebec.  They want to understand where productivity is versus forecast differences.  And, you know, the answer there is the same as it is here, that one can never accurately determine and separate productivity from forecast differentials.  It's just impossible.  One will never have the amount of data that one would require to do that.


And as a result of that, I think one is left with measures of -- well, first of all, I think one should set up incentive regulation parameters that still incent the right behaviour.  Whatever that forecast is, you want the utility to be incented to be -- whatever the benchmark is, be it I-minus-X or be it a building-block forecast.


So I think one can separate the incentive from the issue of, is this an accurate forecast or not.


But I would argue that the place to determine forecast accuracy is probably in a different context, and I would argue that leave to construct is an appropriate forum for looking at the rigour associated with large capital expenditures.


I would argue that, you know, O&M expenditures are more homogeneous across utilities than are capital expenditures.  So you can look at the type of analysis that we have done, benchmarking analysis, which is really top-down, and/or TFP or PFP analysis to look how a utility compares to its peers.


But the reality is, is that a regulator can never know, and I would argue a utility could never know, exactly what portion of its earnings are coming from productivity in a sense that it completely isolates that from the rest of its activities, because there are just so many elements that go into the total cost and total revenue requirements for utility.  You could never really strip it out and do it accurately.  That's where we're left with these imperfect measures of TFP/PFP benchmarking that at least give us some sort of an outside measure, but I would argue that it's regulatory and stakeholder scrutiny of those forecasts that really is the best tool that a forum like this has to examine the robustness of those forecasts, and also to look at the process the utility goes through in order to arriving at those forecasts.  That's not a very satisfactory answer, but I'm afraid it's the truth of utility economics.


DR. KAUFMANN:  Okay.  But would you agree that this whole challenge of trying to discriminate actual efficiencies versus errors or inflations and cost forecast is avoided in Alberta because the cost forecast are not reflected in the company's prices and therefore not reflected in the company's actual returns?


MR. COYNE:  No, not avoided.  I think it's placed at a different context.  You could have a utility for whom I-minus-X is overcompensating that utility for what its actual cost drivers are, so we can't argue that it's more accurate just because it's an I-minus-X program, or it may be inadequate, in which case the utility may be under-investing in system reliability and safety.


So just because it's arm's length, so to speak, in the sense that it's I-minus-X, doesn't mean that it's an accurate portrayal for either customers or the company.


DR. KAUFMANN:  Okay.  So -- but the -- any inaccuracy would reflect differences in external data in the case of Alberta, whereas here it would least be due in part to projections that the company has made about its cost going forward.  Isn't that correct?


MS. FRAYER:  There could also be inaccuracies with the going in rates too, since those are established on a test-year basis.


DR. KAUFMANN:  Okay.  Anything else?


I have a number questions on benchmarking.  When is lunch?


MS. SEBALJ:  I was just looking for nods.  I'm in everybody's hands.  I'm not the boss of this place, so if people would like to break now for lunch, that might make sense.  I think benchmarking will take at least an hour, so why don't we break now, because I'm seeing nods, and come back in an hour?  1:15?  Does that make sense to people?  Okay.  Thanks.


--- Luncheon recess taken at 12:13 p.m.

--- On resuming at 1:18 p.m.

MS. SEBALJ:  Why don't we get started again?  We were, I think, at a point where Dr. Kaufmann was about to start asking questions about benchmarking, but I'm not sure whether there is anything from Enbridge in the way of -- anything that's come up over the break or that you have to add.  And I guess there was reference to this SEIM walkthrough.

MR. CASS:  The document on the sustainable efficiency incentive mechanism is being worked on and it should be up soon, but we weren't able to get it up right for the end of the lunch break.

MS. SEBALJ:  For planning purposes, is the intention, then, to -- we'll finish the questioning from Board Staff and then if that document is ready, we'll go through that, which will probably take us to the end of the day?  Or how long do you anticipate that example or walkthrough or whatever it's going to look like to be?

MR. CASS:  How long do I think the questioning will take?

MS. SEBALJ:  No.  No, we'll --


MR. CASS:  How long until it arrives?

MS. SEBALJ:  No, not until it arrives.  Once it gets here, is that -- I assume there's a walkthrough that's happening of the document.  That was the implication, I think, from the witnesses earlier.

MR. CASS:  Fifteen to 20 minutes then, Kristi, the witnesses can walk through it.

MS. SEBALJ:  All right.  Thank you.  I guess let's continue with the questions, then.

DR. KAUFMANN:  A number of questions on benchmarking and that -- in fact the remainder of my questions are all on benchmarking.  I'm going to go to attachment 1 of the response to CME Interrogatory No. 1, and page 6 of that attachment.  Is it page 6?  Maybe on it's page 7.  Could you just scroll up again, please?  It is --- okay.

In this response, the -- Enbridge writes:

"The efficiency of a gas distribution's capital spending plans cannot be reliably evaluated by benchmarking, indexing or trend analysis, because a gas distribution company's capital spending is impacted by circumstances that are unique to the distribution company at a specific point in time."

I was just wondering if you could confirm that in the building block plans in the UK, the regulator does in fact evaluate the efficiency of gas distributors' capital spending through benchmarking.

MR. COYNE:  My understanding -- and I'll start with my understanding, and I would invite Ms. Frayer to weigh in as well, because of her experience, greater experience in the UK programs than I have.

Our understanding is that they begin with a forecast from the company, and then the Board -- with assistance from, as I understand it, three outside consultants -- look at various ways to measure the efficacy of that forecast.  They try to provide some independent view using external data or data that's, I should say, amalgamated from the other utilities that are also under the regulation of Ofgen.

And I would say that Ofgen is in somewhat of a unique position there.  Maybe it's a little bit more analogous to the Ontario Energy Board insofar as its relationship with its electric distributors, whereas Ofgen regulates many gas distributors.  It has the ability to require them to provide data that they can use to conduct that type of benchmarking analysis.  So at least they can acquire data from companies that are operating within the same broad geographic boundaries.

In the case of the Ontario Energy Board, it has that ability with its electric distributors to acquire that data and to attempt to put the capital spending of any one utility in the context of a group of peers, although even there, as I understand, following the RRFE, that can be challenging.

But I would invite Ms. Frayer to join in, in terms of her understanding in terms of how that data is used.

MS. FRAYER:  I don't have too much to add, because I think Mr. Coyne did cover it quite elegantly in the sense that there are many techniques that are used to evaluate the consideration of the assessments provided by the utilities on their business plans.

But I think one of the things that's important to also distinguish is that even in the UK, that has the wealth of capability to collect data from multiple utilities and use in more detailed analysis than is currently available, I believe, to the Board with the gas distribution sector here in Ontario.  Even in the UK not all aspects of the entirety of capital investment plans are evaluated using the same techniques, using the same types of models and methods, because -- going back to what Jim said -- unique circumstances, certain types of capital spending, may not be comparable to other utilities.  Some projects may not be comparable.

So if you dig into the analysis they perform, there may be one level of analysis performed on -- for example, unit cost benchmarking performed on a specific type of capital program, but not across the board on all programs across all utilities.

That being the case, I think they also use and want to continue to use more general benchmarking techniques, not just on the capital side but total factor productivity, historical total factor productivity studies.

And that's been done by Concentric in this case as well.

DR. KAUFMANN:  Okay.  But Ofgen does in fact develop company-specific benchmarks for each gas distributor; isn't that correct?

MS. FRAYER:  They go through the plans and do come back with potential adjustments that they would like to see.

MR. COYNE:  And I would even describe it differently from my understanding, and that is that the -- in the recent round, as I understand it, the company submitted forecasts, and if the forecasts were found to be acceptable in the eyes of the Board, they were fast-tracked.  If not, they were basically sent back to the drawing board to come up with new forecasts.

So I don't know that Ofgen is actually developing a forecast for the company as much as they are responding to what the company has provided, as the starting point in every case is the company forecast.

DR. KAUFMANN:  But in the IQI, which they do in fact use and they use in all the gas distribution reviews, isn't there in fact a benchmark that is the starting point for the IQI and that's developed for each specific company, and which is used in the gas reviews?

MS. FRAYER:  The way that I like to think about it is the IQI is an incentive mechanism.  In fact, incentive is part of the title, if you spell out the acronym.

So I think in order to make the IQI work, the sliding scale work, they do have a point of comparison against which they put the company plans and then let the company, on the basis of that point of comparison, slide through the different perspective awards or penalties.

DR. KAUFMANN:  And the point of comparison is a benchmarking assessment?

MS. FRAYER:  Well, yeah, I guess, if you apply benchmarking in a wide kind of general sense.  Many things could be called benchmarking, in fact.

DR. KAUFMANN:  Well, that's what Ofgen calls it?  Ofgen calls it benchmarking; correct?

MS. FRAYER:  Ofgen applies the term quite, I would say, widely, to many methods of analysis.

DR. KAUFMANN:  Yes, okay.  So there are benchmarks.

Does CEA believe that the benchmarking studies in the UK are not reliable?  And if so, please explain.

MR. COYNE:  I have not examined the UK benchmarking studies to determine whether or not they were reliable or not, but the challenge --- but I speak to the challenges I know we face here in North America, and those challenges are, number one, having access to data to reliably estimate benchmarks.  And as I mentioned, we don't have the ability to require gas distributors to provide a robust sample set that would allow us to create those types of benchmarks.

So that's the context within which I make that statement.  I can make no independent evaluation of the quality of the benchmarks that Ofgen has established.  I do know that it's very expensive and very time-consuming, and they use, again, three consultants to try to prepare their baselines.

DR. KAUFMANN:  So this isn't a general statement?  This is a statement about North America?

Because it's written as a general statement.

MR. COYNE:  I would also say that the rest of it follows, and that goes to the capital spending as impacted by circumstances that are unique to a distribution company at a specific point in time, and I think that will always be the case.

So I don't know that there is a data set that would determine what utility X's capital spend being should be in a reliable manner.  I think that still has to be a matter of judgment.  That benchmark could be one form of developing that judgment, but I do believe that the -- using the building-block approach, a forecast that starts with the company's forecast is a good place to inform that dialogue, but a benchmark, you know, if available with robust data from alternative sources can be used as well, then certainly I would take advantage of it.  But I don't see us as being in that position here from a standpoint of robust data across multiple gas distributors that are like Enbridge.

MR. SHEPHERD:  Can I ask the same question of London Economics?  You have looked at the benchmarking studies in the UK, right?

MS. FRAYER:  We have looked at them, yes.

MR. SHEPHERD:  And do you think that they are robust, reliable information?

MS. FRAYER:  Well, I think that they provide a wealth of information.  I think the job of the regulator in any jurisdiction is to pick through the information.  They use a lot of different types of techniques, and sometimes the technique -- the results of the studies using different techniques point to different outcomes, so it's the same challenge that you face in any jurisdiction with respect to quantitative analysis, that it's not purely a science.  There's an art form to it too.

MR. SHEPHERD:  Of course.  And can I follow up with Mr. Coyne?  There's some information missing in Ontario to do proper benchmarking; is that right?

MR. COYNE:  Well, when you say proper benchmarking, if I could infer in your question proper benchmarking means a group of companies that are -- that have similar operating circumstances you could rely upon, yes, you only have Union as one other company you can rely on in Toronto, and that's why we look at a North American sample for that reason and draw from that the data that we can.

MR. SHEPHERD:  No, I'm sorry, I'm trying to understand.  You talked about the fact that there was data missing in Ontario, and I'm wondering -- like, we know that there are triple R filings, or there are regulatory filings for gas utilities, right, that have a whole lot of information.

Have you gone through those and looked and seen what capital information is missing from that that prevent you from, for example, comparing Enbridge to Union?

MR. COYNE:  We have looked at Union in the benchmarking analysis that we did, and we compared their -- we compared them on a comparable basis to Enbridge in that regard, and that's in our benchmarking report.  I looked no further than that.  But I don't know what I would have found had I looked further than that.

MR. SHEPHERD:  So you haven't looked at what the gas utilities file on a regulatory basis in Ontario?

MR. COYNE:  We did look at what the gas utilities file, and in part the data that we're relying upon for -- I'll have to go back and check what we pulled for Union, but I suspect we must have relied upon it there, but we also contacted each of the individual gas distributors, because in general we found that the data that was reported in the public domain was insufficient for what we were trying to do.

MR. SHEPHERD:  Okay.  And also, there was a data set that Pacific Economic Group used to analyze the performance of the two gas utilities for the past period, right?

MR. COYNE:  Yes.

MR. SHEPHERD:  Did you have a chance to look at that as well?

MR. COYNE:  We looked at the study that they performed.

MR. SHEPHERD:  I'm talk about the underlying data set.  They asked for a bunch of data from the two gas utilities, right?

MR. COYNE:  I know we had access to the Enbridge data.  I'm not sure if we had access to the Union data or not, but if that's of interest I can confirm that.

MR. SHEPHERD:  And did you look at it?  I'm not concerned with whether you had access to it.  I'm concerned with whether you looked at it.

MR. COYNE:  The Union data?

MR. SHEPHERD:  Both.

MR. COYNE:  Well, I will -- I think I would have to take that on undertaking, because --


MR. SHEPHERD:  Okay.

MR. COYNE:  -- my colleague that examined that data I would confer with before answering you.

MR. SHEPHERD:  Okay.

MS. FRAYER:  Jay -- Mr. Shepherd, if you don't mind to jump in, maybe to add a little bit of a different context to it, not the Ontario-specific context, but data, certain data we all agree is available to us.  The work that Concentric has already done, I'm looking at total factor productivity historically, but some of the capital-specific benchmarking that's done in other jurisdictions requires data that would typically not be in an annual report or regulatory filing.  It breaks it down to a much lower level of specificity.  For example, unit cost benchmarking, you need information on what different diameter pipelines cost per kilometre, and information that's of a significant enough detail that we wouldn't typically find in a generic report that we would expect for regulatory proceedings.  It's something that in the UK has been consistently asked for as part of their price-control reviews, and so that's why we're saying that they have access to a detail that isn't currently available here.

MR. SHEPHERD:  Thank you.  Can I get the undertaking from Mr. Coyne?

MS. SEBALJ:  It's TCU1.10.
UNDERTAKING NO. TCU1.10:  EGDI TO CONFIRM DATA REFERRED TO

DR. KAUFMANN:  Thank you.

I would like to go to pages 10 and 11 of the same attachment.  Okay.  So I'm going to read the last sentence on page 10, which extends into page 11.  I'm sorry, that and the last sentence -- the last full sentence on page 10 and then the next sentence, which extends into page 11:

"In addition, the Board's critiques of peer grouping as presented in the PEG report on page 37 are specifically related to using benchmarking to assign all benchmark companies to groupings, cohorts, for the purposes of assigning stretch factors.  Concentric is not proposing to use peer-group benchmarking to assign all benchmark companies to cohorts for the purposes of assigning stretch factors.  Therefore, the Board's critiques about using benchmarking to assign all benchmark companies to cohorts for the purposes of assigning stretch factors is irrelevant."

First question there is, in the last sentence, just to clarify, when you say about using benchmarking, you meant using peer-group benchmarking there; is that correct?

MR. COYNE:  Well, I meant the econometric benchmarking work that was performed by PEG for purposes of determining cohorts.

DR. KAUFMANN:  But the Board's critiques about using benchmarking, the Board wasn't critiquing the econometric work; is that correct?  The Board was critiquing using peer-group benchmarking to assign all benchmark companies to cohorts.

MR. COYNE:  I believe it was.

DR. KAUFMANN:  Yes.  Okay.  Can you firm that the November 21st, 2013 report of the Board and section 2.2.2, titled "stretch factor", the Board found that in general there is a lack of support amongst stakeholders for the use of peer groups, and the Board finds the reasons cited compelling.  For sake of argument, would you accept that that is a Board finding?

MR. COYNE:  I think we have that document available to us, so perhaps we could pull it up.  Do we not?

DR. KAUFMANN:  The Board report is -- it's the -- the report of the Board from November 21st, 2013, rate-setting parameters under the RRF for Ontario's electricity distributors.  Yeah, I don't think we that have electronically.

MR. COYNE:  I have a hard copy here.  So if you will refer me to the appropriate page --


DR. KAUFMANN:  Okay.  It's on page 20.

MR. COYNE:  And, I'm sorry, the date of that report?

DR. KAUFMANN:  November 21st, 2013.  That's the Board's final -- that's the report of the Board.

MR. COYNE:  All right.  And I'm looking at the draft report of the Board dated September 6th.  Maybe the language hasn't changed.  Can you refer me to the page number?

DR. KAUFMANN:  I believe it has changed, but it's page 20 of the -- I only have the page numbering for the final report of the Board.

MR. COYNE:  What does the paragraph begin with?

DR. KAUFMANN:  I only have the -- I don't have the full context here.  I don't have the actual report in front of me.  Would it be helpful to get it?  I mean, this is obviously -- it's easy to get a copy of this report.  I can save these questions for later when we can get a copy of the report so you can --


MR. COYNE:  I think in this case it would be helpful, because no doubt there might have been some context there.  That would be helpful to look at.

DR. KAUFMANN:  I'll get back to these questions, then.

MS. SEBALJ:  Well, we should be able to pull it up from the website, but go on, and we'll pull it up as we find it under "policy initiatives".

DR. KAUFMANN:  Okay.  Then let's go to page 12 of this attachment.  The last three sentences on this page say:
"In addition, Concentric provides comprehensive cost comparisons through its TFP analysis.  This analysis includes both O&M and capital inputs, and Concentric determined that EGD's productivity was better than both the industry and seven-company subgroup over the 2007-2011 period.  To claim that Concentric relied only on OM&A benchmarking results is misleading."

So can you just explain whether CEA's analysis included any comparison of EGD's total factor productivity level or total cost levels to the industry, any subgroup, or any other individual distributor?


MR. COYNE:  Well yes.  The total factor productivity analysis we did compared Enbridge to the 25--company subgroup as well as the seven-company subgroup, as stated here.  And in our benchmarking analysis, we also compared Enbridge's capital costs to the same industry group and seven-company subgroup.  In the prior benchmarking analysis we did, we also compared them to the Canadian gas distributors.


DR. KAUFMANN:  But for the total factor productivity analysis, Enbridge was only -- you only compared Enbridge's productivity growth to the industry and not Enbridge's total factor productivity levels relative to the industry; correct?


MR. COYNE:  Well, we compared -- yes, we compared their growth over time, and you're talking about total factor productivity levels.  We did it on an annual basis by virtue of creating the productivity index for each year, and we compared them against each.  We also did it on a company-by-company basis for each year.


So I guess perhaps I'm not understanding the thrust of your question.


DR. KAUFMANN:  The question is whether there were any comprehensive benchmarking analyses done, and that were presented in your report, of levels to levels.  So that looked at the total -- either the total factor productivity level of Enbridge relative to the total factor productivity level of the industry, or the total cost of -- the total cost per output, so total cost per customer for Enbridge versus total cost per industry or to specific companies in the industry.  That's the question.


MR. COYNE:  Yes and yes.  Total factor productivity, well, first of all, total factor productivity is typically measured over time, not in isolation in a given year.  That's typically just how these studies are presented, as you well know.  So we compared their productivity over the 2000 through 2011 period compared to two different peer groups, the seven-company and the 25-company peer group.


Secondly, if you turn to our evidence in the benchmarking study, on pages A6, A7, A8 and A9, there we compared and benchmarked Enbridge against the same peer groups on a net plant per customer basis, net plant per volume basis.


DR. KAUFMANN:  Sorry, can you tell me those pages again?


MR. COYNE:  Yes.  Pages A6 through A9 of the benchmarking appendix attached to our evidence.  If you look at the top, it's Exhibit A2, tab 9, schedule 1, pages 83, 84, 85 and 86.


So that would be a single moment of time where we're comparing Enbridge's investment in net plant per customer, looked at through those four different lenses.


DR. KAUFMANN:  All these comparisons for A6 through A9, they either look at total plant per customer or OM&A cost per customer individually; none of them bring together the costs, together into a comprehensive total cost analysis, where the total cost of Enbridge is compared to the total cost per customer -- the total cost per customer of Enbridge is compared to the total cost per customer of any other -- of the industry, any industry subgroup, or any individual distributor.


MR. COYNE:  This is their total cost per customer for -- the total net plant per customer, and net plant is certainly highly correlated with total cost per customer.


DR. KAUFMANN:  It's correlated, but none of these tables bring together the capital cost and the OM&A cost into a comprehensive total cost measure.


MR. COYNE:  That's what the TFP measure does.


DR. KAUFMANN:  No, it doesn't.  I mean, I'm not being argumentative, but I'm asking --


MR. COYNE:  Sorry, I have to stop you there.  I'm not being argumentative.  That's exactly what TFP does.  If we can't agree on that, I'm troubled, from a technical conference standpoint.


DR. KAUFMANN:  Well, that's --


MR. CASS:  Dr. Kaufmann, I'm just a little worried you're also giving evidence.


DR. KAUFMANN:  Let me just retract that statement.  And I'm not going to get into a debate here, but the issue, what I'm asking, is whether you have presented any total cost evidence here that brings together in one measure the capital cost and the OM&A cost -- not that has them separately -- one that brings these tables together into an overall measure of their total cost.


MR. COYNE:  Let me answer that two ways.


One, the TFP analysis that we have provided brings together capital, labour and materials cost, A.


B, we have also conducted a test of the revenue path for Enbridge using the total of O&M costs and capital costs vis-a-vis the I-minus-X path.  And for that, in case you're not aware of that analysis, it's done on page 48 of our report, which is page 52 in that same exhibit number.

DR. KAUFMANN:  Since the information is all here and I think we agree that it's all here, I would like to ask an undertaking where Concentric would provide the total cost per customer for Enbridge for the industry on average, for the seven-industry subgroup, and for each individual company for 2010, 2011 -- or for 2010 and 2011, and I would like to see those ranked from lowest to highest, total cost per customer.


MR. COYNE:  Well, I think I'm responding to that.  I'm not sure it needs to be an undertaking, but if it's efficient I can tell you what we do have and what we don't have, to respond to your request.


As I mentioned, we have the TFP analysis that we provided and we have -- we compare O&M and capital costs and the benchmark, and we also test the total on a forecast basis of Enbridge's rate path against an I-minus-X rate path.


DR. KAUFMANN:  So as part of that total factor productivity analysis, you've estimated capital costs?


MR. COYNE:  No, that's the company's forward rate path from 2014 through '16, in our analysis.


DR. KAUFMANN:  No, for the sample, for every company in your sample.  When you estimate TFP for the industry, you have -- the input price index would include a capital quantity index; isn't that correct?


MR. COYNE:  That's correct.


DR. KAUFMANN:  And the capital quantity index would be weighted by the share of capital and total cost?


MR. COYNE:  That's correct.


DR. KAUFMANN:  So then you have total cost, and you have capital cost as a share of total costs?


MR. COYNE:  That's correct.


DR. KAUFMANN:  So what I would like to see is I would like to see the sum of capital costs plus OM&A costs for each company in the industry, each company in your sample, and for Enbridge, and I would like to see that divided by total customer numbers for 2010 and 2011, and also for the industry as a whole.


MR. COYNE:  By "the industry as a whole" you are referring to the 25 companies?


DR. KAUFMANN:  Yes.


MR. COYNE:  And you're referring to capital cost minus O&M costs?


DR. KAUFMANN:  No, capital costs plus O&M costs.  That's total costs, on average for the industry.


MR. COYNE:  If there is any ambiguity, I guess we'll circle back on that.  We'll see what we can do.

MS. SEBALJ:  Sorry, it's TCU1.11.
UNDERTAKING NO. TCU1.11:  EGDI TO PROVIDE THE SUM OF CAPITAL COSTS PLUS OM&A COSTS FOR EACH COMPANY IN THE SAMPLE AND FOR ENBRIDGE, AND DIVIDE BY TOTAL CUSTOMERS FOR 2010 AND 2011 AND FOR THE INDUSTRY AS A WHOLE.


DR. KAUFMANN:  I would like to go to Board Staff Interrogatory No. 12.


And on page 2 -- let's see.  There's a statement on page 2, which I don't see here.  I think it's near the end.  Okay.  No, it is -- it's on the paragraph -- the last full paragraph here, the second -- I'm sorry, the third sentence.  Yeah, it's starting there, at "Concentric is confident that the annual degrees day standard is an appropriate proxy for other cold-weather variables that directly affect costs but they're not reported as such, such as", and then there are a number listed here.  And then right below that it says:
"However, Concentric does not believe that heating degree days is necessarily statistically correlated with gas distributor cost, because these operating conditions' circumstances or conditions are a permanent feature of the utility's cost structure and do not vary year to year with heating degree days."


Okay.  So the question is, if similarity in heating degree days is an appropriate proxy for operating conditions that are a permanent feature of the utility's cost structure, then please clarify whether a cross-sectional regression of gas distributor costs on their average heating degree days over a multi-year period would or wouldn't show that there is a statistically significant relationship between heating degree days and gas distribution costs.


MR. COYNE:  Is your question have we conducted that analysis?


DR. KAUFMANN:  The question is, based on what you are saying about the annual degree day standard being an appropriate proxy for a variety of variables that impact cost, if that is the case, then -- and that makes it a permanent feature of the cost structure -- if you took a regression -- if that's the case, then wouldn't you expect a regression of total cost on average heating degree days over a multi-year period to show that there is a significant relationship, a statistically significant relationship, associated with heating degree days on a company's cost?


MR. COYNE:  Well, A, we did not conduct that analysis.  B, we used heating degree days as a screen -- as a proxy for these cost drivers, and then from within that group then we then chose a sub-sample that most represented Enbridge from an operating circumstance standpoint, based on customer growth and based on the size of the utility based on numbers of customers.


So we did not attempt to determine whether or not heating degree days was statistically significant, but based on our industry knowledge we felt as though it was certainly reasonable ground to stand upon to choose cold-weather utilities as a reasonable proxy for companies that face similar cost drivers, and to do that we chose those that were within plus or minus 45 percent of Enbridge's heating degree day environment.


That's a fairly broad slice of the utility world, but not as broad as using all gas utilities as we see some do, because we feel as though that just includes companies that are not appropriate comparators.


So that's the place where our analysis begins, but from that group we chose a seven-company subgroup.  Those companies that we chose, both the 25-company subgroup, as well as the seven-company subgroup, were within 7 to 8 percent on average of Enbridge's heating degree days, and that gave us confirmation that we had at least a like sample of utilities to work with from a productivity standpoint, but we did not attempt to isolate heating degree days statistically for that purpose.


DR. KAUFMANN:  But in terms of the statistical correlation, is -- your answer here is that there wouldn't be any statistical correlation because of the time series variation in heating degree days, and this is kind of a long-run relationship associated with the values of heating degree days and the cost of distributors.


MR. COYNE:  That's correct.  We did not attempt to do that analysis, but that's our belief, that you would suffer with the fact that it's a permanent condition for the utility.  Just because it's cold to warm in a given winter, you are not going to see a direct relationship in its corresponding costs --


DR. KAUFMANN:  In a given year.


MR. COYNE:  In a given year.


DR. KAUFMANN:  But over a multi-year period you would expect to.


MR. COYNE:  Well, not over a ten-year period.  It's a -- I don't think you are going to see a response from -- we're measuring a productivity over a ten- or 11-year period here, and I don't think that we're going to see in that period of time something that's statistically significant, and able to separate it from the other cost drivers that utility faces is, of course, part of that equation.


DR. KAUFMANN:  Do you have the data just to do that regression?  Do you have ten years of heating degree day data and ten years of company cost?


MR. COYNE:  We have -- we collected heating degree days for, I believe it was 2006 through 2011, for making this determination.  We didn't go back further in time than that


DR. KAUFMANN:  Okay.


MR. COYNE:  So the answer is, we collected it at the state level and at the -- I believe it's at the sub-state level as well, in order to make those determinations.  So we did not collect all the same data on heating degree days over the same period of time as we'd have the cost data for the utilities, no.


DR. KAUFMANN:  Okay.  So we don't have that on a comparable year-by-year basis?  The sample periods differ?


MR. COYNE:  The sample period was different.


DR. KAUFMANN:  Okay.


MR. COYNE:  I should add that even if we did -- suppose we had heating degree days by utility over the 11-year period and we ran that regression.  We're only running it against heating degree days, and if we're missing ten or 11 other variables that are also significant cost drivers and relevant to that utility, you can't say that the statistical estimates would be reliable ones.  So I'm not sure what that exercise would prove.


DR. KAUFMANN:  Let's see.  Are we still on Board Staff Interrogatory No. 12?  Okay.  I would like you to confirm that in this -- I believe it's the passage I just read.  It says that:
"CEA is confident that the annual degree day standard is an appropriate proxy for other cold-weather variables that directly affect cost but are not reported."


MR. COYNE:  Yes.


DR. KAUFMANN:  Okay.  And I would like to go to Board Staff Interrogatory No. 17, okay, yeah, and part 1 there.  The question was asking Concentric to develop an econometric model of gas distribution cost, and directly above that, if we could just scroll up, above that you say you haven't prepared a model, and then you explain why, and page 2 below, and at point 1 you say:
"It is not possible to develop an econometric model that accurately measures the relationship between gas distribution company costs and cost drivers, because several factors that are commonly understood to impact gas distribution costs are not reported or are not measured in a way that accurately reflects the true cost driver.  Because these true cost drivers are not available or are not accurately measured, any econometric model of gas distribution costs will be biased, and the calculations requested in interrogatory staff 17 B, C, and D will not accurately measure any specific gas distribution company's predicted costs."


Is that correct?


MR. COYNE:  Yes.


DR. KAUFMANN:  Okay.  So the question is whether -- I would like you to explain whether your decision to select peers using a proxy for unmeasured cold-weather variables that are not reported leads your peer-group selections to be biased, as you claim econometric-based benchmarks would be biased, when there are other factors that impact gas distribution costs that are not reported.


MR. COYNE:  Well, let's break your question down to parts if we can.  Let's start with the first piece of it.  Is your question, can we feel confident that we have the appropriate sample, the first one, by using a heating degree day proxy group?  Can we start with that?  I think that was the -- you had a three-part question.


DR. KAUFMANN:  Well, there's -- I think it's really just a one-part question, but there are various elements that -- kind of involved in that question, but ultimately the issue is the non-reported variable issue, and what you are saying in this response is that when there are factors that impact costs that are not reported, they lead to biases in econometric estimates; is that correct?


MR. COYNE:  Well, or the inability to estimate them reliably.

DR. KAUFMANN:  And yet you've relied on a proxy for various factors that are not reporting, and I'm just wondering whether --


MR. COYNE:  The initial proxy group selection, yes.

DR. KAUFMANN:  So you have -- you're acknowledging that there are various factors that are not reported, and yet you have something that is a proxy that's associated with that, and the question is whether relying on proxies for variables to select peer groups that are not reported, whether the same biases are introduced when we're talking about variables that are not reported in peer group benchmarking as would be -- as you say exist in econometric benchmarking.

MR. COYNE:  Well, put it this way.  We're not introducing a bias in doing so.  By selecting a 25-company proxy group based on weather, we start, I believe, with a reasonable position in terms of companies that face operating circumstances to Enbridge.  What we're not suggesting in doing so is that we have the ability to parse on each of these variables the specific cost drivers reached at those utilities.  So what we're forced to do is treat them as a group.

Are there biases in that proxy selection?  Well, are they a perfect measure for Enbridge?  I would say no, but I think it's a reasonable way to choose such a group.  Again, as I've indicated, I see other studies that use the entire universe of North American utilities or US utilities, and I see no reason to do that when you can choose a group that's at least more like your target company.

As is known by this audience, I do a fair amount of work that relies on similar standards for cost of capital, and when you are doing cost of capital work, you start with the same -- you start with selection criteria to choose a smaller group from a broader group, based on reasonable criteria.  And I would argue that weather is an important one, but then we go on from there to use customer size because we're trying to get at scale economies, and we use customer growth because we know that customer growth is also a significant factor impacting total factor productivity.

It might be helpful, so that we're not talking in the abstract here, to introduce a visual that I pulled together last night, thinking that this issue might come up.  If I could get some help in distributing these, I'll share them with my panellists so that we're not talking in the abstract about this principle.  Maybe I should wait a moment until everybody has it in front of them.

So what you have is a visual representation of our selection rationale, and by choosing weather as our proxy group, what we've done is included natural gas utilities that operate in the greyed states that you can see there.

Thank you for getting that up so quickly overhead.  Impressive.

And so you can see the states that we chose, and then within those states you can see the specific utilities that we've chosen.  And those utilities are, A, natural gas utilities.  They are not electric companies, or we've chosen the natural gas utility portion of combination companies where we had the data.

The weather, they're the northern US, and as I mentioned, they're plus or minus 45 percent of the degree days of Enbridge as a limit.  But on average, they are 7 and 8 percent within Enbridge's heating degree days.

They're the largest gas distributors in this region.  They're all over 500,000 customers.  And that number is greater for our seven-company group; it's greater than 850,000 customers.  And there, they're also the fastest growing.

And lastly, there are those companies that we had quality available data for to conduct the analysis.  So those are the screens that we used to create this initial proxy group.

Had we started off -- to go further than that and to suggest that we -- if we had access to this data for individual companies, to begin to parse that further econometrically, again, the data's not available to do so.  Had it been available to us, perhaps we would have experimented with it, but again, it wasn't available to us, and therefore we can't draw those conclusions.

But certainly insofar as this work goes, we're confident that we have a reasonable set of utilities to begin with.  And again, I think the seven-company subgroup, which creates more of a stretch for Enbridge, is even more representative.

DR. KAUFMANN:  Okay.  Why don't we go on to page 3 of this response?  Jay, do you have a question?
Questions by Mr. Shepherd:

MR. SHEPHERD:  It took me such a long time to understand how business conditions fit in your --- it's upsetting me that I'm now confused again.

As I understand it, whenever you try to do benchmarking you have to identify the primary cost drivers, and correct for those if you are comparing somebody to any other benchmark, right?  You have to correct for the cost drivers?

MR. COYNE:  Well, not necessary.  You can approach it a couple of different ways.

One is you start by selecting a peer group that is comparable, and therefore you assume that they are facing similar cost drivers.

MR. SHEPHERD:  That's what I'm getting to, Mr. Coyne.

My understanding was that when you do peer group benchmarking, you take those cost drivers and you use them, the main cost drivers, and you use them to select your peer group.  And that way you have a fair comparison.

When you use econometrics, you take those cost drivers and you build them into a formula that predicts costs, but you're still using the same cost drivers, right?  In both cases?

MR. COYNE:  I agree with you in the latter, in terms of how you're describing the econometric analysis.

But for a pure peer group benchmarking analysis, it's not necessary to understand the cost drivers, if you have other criteria that suggest that they should be living in a similar operating environment.

When you do -- industry benchmarking happens not just here, for utilities, of course; all kinds of industries benchmark their operation.  The standard way to do benchmarking analysis isn't what's done in these regulatory contexts.  It's to select a group of peers that have similar operations.

I used to do this for refining companies and chemical companies.  You choose polypropylene plants.  You choose refineries that are cracking the same type of crude oils to do refineries, et cetera.  So you have those selection criteria that allow you to create a proxy group.

You assume that because of those operating characteristics that you have, you have the appropriate cost drivers behind them and therefore you can make legitimate comparisons.

MR. SHEPHERD:  That's the question I'm asking.  When you choose your selection criteria, isn't the purpose of doing that to ensure that the businesses that are being compared have similar major cost drivers?  Isn't that the purpose of it?

MR. COYNE:  Yes, it is.

MR. SHEPHERD:  So if you're selection criteria in peer group benchmarking misses major cost drivers or business conditions that represent major cost drivers, then isn't it biased?

MR. COYNE:  I wouldn't say biased, but I would say it's not as robust a peer group as it could be if you had some that were closer to your target company.  That's always the objective when you're benchmarking, is to come up -- two-fold.

One is you want a big enough group so you are not looking at just two other companies.  For example, here we could say let's just look at Union, but we don't know if Union can tell us what top quartile performance is, for example.  By looking at a larger group, we can derive a broader sample from the industry and learn more from it, which we're trying to do, but you don't want to be so broad -- i.e., the entirety of North America -- that you include companies -- for example, Californian utilities are not included in our sample size because of the weather conditions that they face.  Even though they're large companies, we just don't think they operate in Enbridge's operating environment.

MR. SHEPHERD:  But weather conditions are only a proper selection criteria if they reflect a major cost driver, they represent a major cost driver for a gas utility, right?

MR. COYNE:  yeah.  That is correct.

MR. SHEPHERD:  Thank you.

MR. COYNE:  And in that response, we denote what we believe that weather represents by way of a group of cost drivers, everything from system design day to their ability to get out in the field and prepare repairs, et cetera.  We had a discussion with Dr. Kaufmann regarding those this morning.

MR. SHEPHERD:  Thank you.
Questions by Mr. Brett:

MR. BRETT:  Can I just add one question to that?  I also heard you say, Mr. Coyne, that in looking at this map here, you say they had common weather conditions, but you went on to say they also have comparable size, comparable growth patterns.  So you're introducing a number of -- there's a number of criteria that you are using here in making your 25- and seven-company selection, peer-group selections.  So it's not just weather that you are using.  You are using several criteria, correct?

MR. COYNE:  That's correct, yes.  Thank you.

MR. BRETT:  But you don't spell out in your -- all right.  That's fine.

MR. COYNE:  We do in the testimony, and if you look at the bottom of the map here you can see these other -- this is -- these criteria go to the 25, so what's missing there are the additional criteria that we used to get to the seven, and that was an even larger-sized company that's growing faster in order to even better approximate Enbridge than the broader group.  But you are correct in pointing out it wasn't just weather that we used for screening criteria.
Questions by Dr. Kaufmann:

DR. KAUFMANN:  Okay.  Two follow-up questions based on that response.  The other major factor that you used to screen was size.  Isn't that correct?

MR. COYNE:  Yes.

DR. KAUFMANN:  Okay.  And the size criteria was to include only U.S. utilities that had at least 500,000 customers and only Canadians that have 150,000 customers; is that correct?

MR. COYNE:  Yes in the first, and I'll check my memory in the Canadian utilities.  We dropped that a little lower because of the nature of the sample companies that we had to choose from.

Yes, that's correct in both cases.

DR. KAUFMANN:  Okay.  What was your empirical basis for selecting 500,000 customers in the U.S. and 150,000 customers in Canada as being the relevant cut-off points for ensuring that a gas distributor is similar to Enbridge?

MR. COYNE:  Well, let me address Canada.  That's pretty straightforward.  There are a relatively few number of gas distributors in Canada by comparison, and had we chosen the same level of -- that we used in the U.S. for Canada, we would have been left with two or three gas distributors.  We felt like that was too small to be meaningful, so therefore we expanded it just so that we knew that -- we felt as though stakeholders would be interested in seeing a broader group, the one that cut off so low.

We did not use, however, the Canadian companies for TFP analysis, only for benchmarking purposes.  We think for that reason they are less appropriate comparators, because we can't get to companies that are of the same size in growth rate as Enbridge in the Canadian sample.

To the question on the U.S., why we cut it off at 500, it was -- we looked at the entire universe of companies that fell within these geographic boundaries, and it was a judgment based on establishing a group that was large enough so that we could capture economy -- large enough so it would be robust, but yet not so large that we're including companies that were too small to be credibly comparable to a company as large as Enbridge.  And then that was our initial cut.


Then when we examined the entirety of our analysis and we looked at the growth rates for Enbridge and their size, we decided that we would slice that even further and reduce it to customer -- companies that were 850,000 customers and that were growing at a more rapid rate than the industry group in its entirety.  We gave a -- by doing so, we created a tougher comparator group than the initial one that we started with.

DR. KAUFMANN:  And that response, you said that you wanted the cut-off to lead to a sample that was robust.  What did you mean by "robust" in that sense?

MR. COYNE:  Well, I mean robust in the sense that statistically large enough so that you could draw meaningful conclusions from the analysis.  When you have one, two, three, four, even five companies, that's not typically considered to be robust from that perspective.

DR. KAUFMANN:  Okay.  Do you have any evidence to support the opinion that scale economies and gas distribution are exhausted at 500,000 customers?

MR. COYNE:  Exhausted on the lower limit or on the upper bounds?

DR. KAUFMANN:  Whether there are economies of scale, do you know of any evidence one way or the other on whether economies of scale in the gas distribution industry, whether they exist beyond 500,000 customers, or whether they stop at 500,000 customers?  Because this is designed to control for differences in economies of scale.

So the issue is -- or the question is whether that 500,000 customer cut-off, whether that -- whether there are any incremental economies of scale beyond that point, and I'm just wondering whether you have any evidence on that or whether economies of scale stop at 500,000.

MR. COYNE:  No, I have no reason to believe that they stop at 500,000.  And again, when we looked at the seven-company subgroup we bolstered that further by using 850,000 as our cut-off.  But I have no reason to believe that they stopped there either.

DR. KAUFMANN:  And Enbridge is one of the largest companies in the sample; is that correct?

MR. COYNE:  They are.  They're about the third largest in the sample.

DR. KAUFMANN:  Okay.

MR. COYNE:  And that again was the rationale for choosing those largest companies and fastest growing.

DR. KAUFMANN:  Okay.  I would like to go to page 3 of the response to --


MR. SCHUCH:  Sorry, before we move on we should probably assign an exhibit number to the map.

MS. SEBALJ:  No opposition to that anywhere in the room?  TC1.4.
EXHIBIT NO. TC1.4:  MAP

DR. KAUFMANN:  Yeah, on page 3, and Jay was asking you about a number of different cost drivers and the importance of capturing cost drivers and benchmarking, and on page 3 here, when you are talking about econometrics, right at the -- at point number 2, you say:

"It's not possible to develop an econometric model, because you would need -- you would be required to collect the following data that is likely to be relevant cost drivers."

And then you have about eight or nine different variables that are listed here as the relevant cost drivers.

I was just interested, if you could clarify whether your peer-group approach to benchmarking considers the impact of any of these cost drivers when you're assessing the performance of Enbridge relative to the peers that you've selected.

MR. COYNE:  From a benchmarking standpoint and/or productivity standpoint or both?

DR. KAUFMANN:  From both, but most particularly on benchmarking.  When you look at -- when you compare the O&M cost per customer for Enbridge relative to the peers that you selected, does that comparison control for any of these factors here which you say are relevant cost drivers?

MR. COYNE:  Well, we look at -- we do look at MISABANE (ph).  We do look at number of -- well, in this case electricity customers would be gas customers.  We look at number of customers.  We do look at customer density.  We do not have data on union versus non-union labour.  We do not have percent of work force that is outsourced.  We don't have AMR penetration.  We don't have demand side management expenditures, unfortunately, separated for the proxy groups, because they don't break it out individually at the level required.

So I guess, to answer your question, we would have some of that data, but not all of it, and not sufficiently so to estimate a reliable econometric model, because if you have -- as you well know, I have spent a good portion of my career estimating large econometric models, and if you have missing data you can't be assured -- in fact, you could be assured that you don't have reliable estimates of the parameters you have otherwise.

DR. KAUFMANN:  So just based on what you just said, hypothetically, if there was a rigorous model, an econometric model, that did use data on all or many or most of these cost drivers, would that model in principle lead to robust benchmarking inferences on Enbridge?

MR. COYNE:  Would it lead to robust inferences?

DR. KAUFMANN:  Yes.

MR. COYNE:  If it --


DR. KAUFMANN:  A rigorous econometric model that includes these cost drivers which -- many of which you said are not factored into your benchmarking analysis.

MR. COYNE:  Well, robust in the sense that it predicted the company's cost based on those cost drivers historically, I guess, is what you are suggesting?

DR. KAUFMANN:  That it led to reliable inferences on the efficiency of Enbridge relative to other companies in the industry.

MR. COYNE:  Well, you'd have to -- you would have to take some stock in the fact that your proxy group was an appropriate one, but if they faced like circumstances -- you have drivers there, but if they faced like circumstances in terms of their operating environment, then I think you could begin to take some inference from those results, yes.

But I would have to say that the typical way we do this, of course, is using historical data, and I have to ask yourself, do I now have reliable drivers in order to allow me to project what the cost for that company should be in the future if you were apply it in a regulatory program such as that we're contemplating here.  So that's the second test.

 So even if you could prove with 100 percent reliability that you could predict what Enbridge's efficiency might have been in its past, you would then have to be assured that you know what those cost drivers are going to be for Enbridge on a going-forward basis, so that it was reliably predicting them in the future.

 Let's throw the GTA and Ottawa reinforcement in the works.  You may not have that.  If you had them in your cost drivers then you could feel better about your model, but I think we both know that it's unlikely that you would have that level of detail in any one company, so that you could then say:  I have an econometric model that has the right drivers to predict what costs should be in the future.

 That's the challenge, even if you had the perfect econometric model.

DR. KAUFMANN:  Just to clarify, you said you would have some confidence in this if you had confidence in the proxy group, but --


MR. COYNE:  Proxy group and the data that you had to drive for the cost model, yes.

 DR. KAUFMANN:  But for an econometric model, do you mean just the sample that you use to estimate the econometric model, because that's not a proxy group per se?

MR. COYNE:  Would you restate your question?

DR. KAUFMANN:  The issue here, the question was about using -- having confidence in econometrics, and econometrics doesn't rely on proxy groups per se.  I mean, econometrics attempts to estimate the impact of these throughout the industry, for companies operating under a wide variety of circumstances, not to try to identify a proxy group that's similar to the company in question that you want to benchmark.  That's the --


MR. COYNE:  Even with econometrics, you might pre-select the group of companies that you are going to conduct that analysis on.

DR. KAUFMANN:  Okay.  But it's not -- I guess it's just the term "proxy" makes it sounds like you are trying to -- that's a term that's typically used in peer group benchmarking, and not econometric benchmarking.

MR. COYNE:  You might still screen all companies in the universe so that you're starting with those that you think are most relevant, especially given the undertaking required to collect data on that many companies at that level.

DR. KAUFMANN:  Okay.  Can we go back -- do we have the Board report?  It's pages 20 and 23.  It's the Board report that I'm -- not the PEG report, the Board report.  Okay.

 Just the one final set of questions which relate to the Board report, and I suppose we'll have it up after the break.

MR. COYNE:  I'm sorry, are we referring to the Board report or the PEG report?

DR. KAUFMANN:  The Board report.

MR. QUINN:  I was going to ask, are we going to cycle back?  They were going to provide output of their model.  That will be after the break, then, also, I presume?

MR. CASS:  We have the document on that and we can pass that around.

MR. QUINN:  That will be helpful, if you did before the break, Fred, and that way we can take a look at what you're going to be presenting, and it might limit the questions if we're trying to read it on the fly.

DR. KAUFMANN:  We have the Board report.  This should only take a second.  So why don't we go to page 20?  And again, just a reminder of what the question was.  It went back to pages 10 and 11 of attachment 1, where CEA said that the Board's critiques about using benchmarking to assign benchmarked companies to cohorts for the purposes of --- the Board's critiques about using peer group benchmarking is irrelevant because the Board -- those Board critiques just applied to assigning benchmarked companies to cohorts for the purposes of assigning stretch factors.

So that was Concentric's statement in response to those particular paragraphs.  And on page 20, I would just like to confirm that the Board in section 2.2.2 says -- and I believe that is up a little ways -- that in general, there was lack of support -- is this the final report?  Okay.
"In general, there is lack of support among stakeholders for the use of peer groups, and the Board finds the reasons cited compelling."

So just to confirm that was a Board finding, and that this Board finding, if you go up to page 19 ---

 MR. COYNE:  Could you go back there for a moment?  I'm just trying to establish context here.

DR. KAUFMANN:  If you could just highlight where the cursor is now?
"In general, there is lack of support among stakeholders for the use of peer groups, and the Board finds the reasons cited compelling."

 If we go up to page 19, we can see this is a section entitled "Stretch factor."  So this finding from the Board applies to stretch factors.

 Now, if we go to page 23, "Benchmarking," the Board says a number of things here.  If you could highlight this first sentence:
"The Board's regulatory oversight of electricity distributors is supported by benchmarking analysis."

 And then at the next paragraph:
"At the first paragraph in its RRF report, the Board concluded that benchmarking will continue to be used to inform rate-setting."

 That's the first sentence in the next paragraph.  And then in the following paragraph:
"The Board has determined that PEG's econometric model will be used for benchmarking distributor cost performance, and as previously noted, for informing the Board's annual assignment of stretch factors to distributors."

So the question is I was wondering if you could explain the Board's findings in this section, that econometrics rather than peer groups will be used for benchmarking applications that do not involve assigning stretch factors, and why that implies that the Board's critiques regarding peer group benchmarking are specifically related to using peer group benchmarks to assign stretch factors.

MR. COYNE:  First of all, I'm still trying to read this section of the report on the fly here.  The third paragraph, is that your focus?  Where the Board --


DR. KAUFMANN:  You could read all three paragraphs to see the full --


MR. COYNE:  The emphasis to me is the same, and I think we've acknowledged this, that the Board is using --- or is relying on PEG's econometric model for assigning stretch factors.  I think we agreed to that.  Benchmarking distributor cost performance, and:
"... for informing the Board's annual assignment of stretch factors to distributors."

 I acknowledge that.  It's in the report.  What more would you like me to add to that?

DR. KAUFMANN:  The question is, doesn't that imply, in your opinion, that the Board is highlighting two distinct applications for PEG's econometric model?  The first is to be used for benchmarking distributor cost performance, and they say above that will inform rate-setting, and there's a separate issue for informing the Board's annual assignment of stretch factors to distributors.

 In both cases, they talk about PEG's model being -- one of the merits of PEG's model is that it's not peer-group benchmarking.

MR. COYNE:  Well, I think you are implying a lot there.  I think the report stands for itself, that there -- they are placing some reliance on the econometric model, as stated, for benchmarking distributor cost performance of electric utilities, and for informing the Board's annual assignment of stretch factors to distributors.

 If it's suggested that the Board is in the same position here, I think I would go back to what I'm stating on page 3 of 3 in our response, that we don't have the data that the Board was able to pull from electric distributors to conduct that analysis.  So it's not an apples-to-apples comparison.

DR. KAUFMANN:  Can we also go down to the top of page 24 so we can see this?  Again, this is all part of the whole Board's discussion about how they are going to be using benchmarking, the role of econometrics, and a comparison of econometrics to other techniques.  It kind of winds up this discussion by saying:
"Furthermore, PEG's model employs a well-established estimation procedure, does not rely on peer groupings, and does not assume constant returns to scale.  And again, this is in the context of benchmarking overall and not specifically to assigning stretch factors."

So my question is, just based on this discussion on page 23 and the top of page 24, do you still believe that the Board's critiques, which they have advanced about peer-group benchmarking, do you believe that those are specifically related to using benchmarking to assign stretch factors, do they go more broadly?

MR. COYNE:  I can't speak for the Board in terms of what was behind their determination in that regard.  I think you are asking me to do more with this record than I can.  You are giving me a final version of a report that I haven't had a chance to review yet and showing me select sentences.

But I will acknowledge, as we did in our testimony, that the Board has relied on econometric modelling for purposes of determining stretch factors.  And I think the Board is in a position there, with having collected a more robust data set for electric distributors, to begin to explore what can be done econometrically.

If the suggestion is made that the Board is in the same position here, that is simply not the case, and if it were to put -- if it were -- attempt to do so here, would it rely on data for Enbridge and Union to create an econometric model?  I don't think anyone would agree that that's a robust enough data set to do that with.

So we're back to the same place we are in our response in CME 1, that you don't have the data available to you to do that, but I will acknowledge the reliance as expressed in this report that the Board has placed on econometric benchmarking for purposes of electric distributors.

DR. KAUFMANN:  Okay.  You said that if they relied on -- only on Enbridge and Union data, then that wouldn't be enough data.  If they relied on a U.S. sample, as you did for your benchmarking, would that potentially lead to a reliable benchmarking -- econometric benchmarking --


MR. COYNE:  Well, if you --


DR. KAUFMANN:  -- approach?

MR. COYNE:  I go back to where we began this conversation.  If you had a robust enough data set, then I think one could begin to explore econometric benchmarking, yes.

DR. KAUFMANN:  Okay.  Thank you.

MR. COYNE:  But that data is not available.

DR. KAUFMANN:  That's all.

MS. SEBALJ:  So I assume this is a good time to take a 15-minute break, and then, Mr. Shepherd, are you next on the -- do we want to do this right now or right after the break?  After the break.  Okay.  So we'll look at the SEIM hypothetical example after the break, and then move on with questions.  15 minutes?  Quarter to three?  Is that good?  Thanks.

--- Recess taken at 2:31 p.m.


--- On resuming at 2:49 p.m.

MS. SEBALJ:  So in the interest of time, did we want to start back up again?  I guess I'll turn it over to Enbridge to speak to the document that was just distributed.

MR. CASS:  I would propose that perhaps the document be given an exhibit number.  Then the panel will walk through it. MS. SEBALJ:  Sure.  It's TC1.5.
EXHIBIT NO. TC1.5:  DOCUMENT PROVIDED BY EGDI

MR. CASS:  Thank you.  I'll turn it over to the panel.

MR. FISCHER:  Thank you, Mr. Cass.  So what we were trying to do with this illustration was to detail the essential four steps as we see it, in terms of, first of all, determining what a SEIM reward amount would potentially be, as well as the application of two tests that we propose that are based on assessment of metrics over the IR term on whether the SEIM award will be, in fact, awarded at the end IR term.

So in slide 2, we start off what the steps are in terms of the formula.  So step A, in terms of the derivation of the reward dollar amount itself, is to determine what the ROE percentage premium is over the IR term.  And that's done by calculating what the average ROE over the IR term is, and subtracting from that what the average of the Board-approved ROE is over the IR term.

MR. QUINN:  Is that the weather-normalized actual, or "actual actual"?

MR. FISCHER:  That's the actual -- sorry, it's the weather-normalized.

MR. QUINN:  Weather?


MR. FISCHER:  Yes, it is.  In terms of the Board-approved ROE, we're using the 2009 formula, ROE formula, and that's consistent with the formula that we're using for ESM purposes as well.  It's also the same formula that we've used to actually calculate our forecast return on equity over the IR term as well.

So that difference between those two averages is multiplied times 50 percent, and then 50 percent again, and then a percentage is derived.

So moving to step B is comparing what the derived percentage is, and comparing that to the maximum allowed, which is 50 basis points, or 0.5 percent.  So the minimum would be either 0.5, or if it's less than 0.5, that would be the ROE premium percentage that would apply.

MS. GIRVAN:  Can I just ask a question?  What assumption have you made with respect to what regulatory model will be in place in 2019 and 2020?

MR. FISCHER:  We aren't making an assumption because we don't know.  We do think that in 2019 we'll be in a rebasing year.  So whatever revenue is determined for that year as part of the rebasing application, ultimately the SEIM award in terms of the revenue amount would be added to that, whatever is determined in that proceeding.  And then for 2020 it's an open question in terms of what could occur during that year, whether in cost of service --


MS. GIRVAN:  So it doesn't matter, from your perspective?

MR. FISCHER:  No, it doesn't.

MS. GIRVAN:  Thanks.

MR. FISCHER:  So moving to step C, then, in terms of the formula, so the ROE premium dollar amount is determined for -- and it's the same dollar amount that we applied, as I just talked about, for 2019 and 2020.  So the -- what's used is the 2019 utility rate base times the 2019 utility equity ratio, and then the percentage, the ROE premium, 50 basis points or less, is applied to that to determine the dollar value of the ROE premium.

MR. QUINN:  You paused, Ralph, but you said 50 basis points or less, but I thought -–

MR. FISCHER:  So the maximum is 50 basis points in terms of the difference between the average allowed and average actual ROE over the IR term, so it won't be any more than 50 basis points.

MR. QUINN:  Then I'm reading something wrong here.  It says minimum reward potential is 0.5 percent.

MR. SMALL:  The minimum of the two.

MR. QUINN:  Maybe I've got them confused.  And I'm sorry to slow you down.  The minimum is 0.5 percent?

MR. FISCHER:  The maximum is 0.5 percent.  So it'll be no greater than 50 basis points.

MR. SMALL:  The slide is intended to say the minimum of those two.

MR. QUINN:  I'll let you carry on and I'll make sure I catch up later.  Thanks.

MR. FISCHER:  This may be a little bit clearer once we get to the second slide, slide 3, because we have the numerical derivation of these.

And the last time in terms -- is to calculate what the actual revenue adjustment would be in those two years, in 2019 and 2020.  So the ROE premium dollar amount, which is effectively earnings, or a return, would need to be grossed up for tax, for income tax.  So the ROE premium is then divided by 1 minus the tax rate to get that gross-up.

So then moving to slide 3 where we take these formulas and we apply some hypothetical numerics to it, so in A, step A, we're assuming that the actual ROE earned was 10.5 percent over the IR period, and the Board-approved allowed ROE was 10 percent.  So we've got 50 basis points.  We're multiplying times 50 percent and times 50 percent again, to get 0.125 percent, or 12 and a half basis points.

So that is in step B we're applying that now, to determine whether that is less or greater than 50 basis points.  So 0.125 is less than 0.5, so 0.125 is the ROE premium.  If it had been more than 0.5 -- it would have been 0.7 -- then the allowed ROE premium would have been 0.5.

Step C, we're actually calculating the dollar amount of earnings that falls out from that ROE premium.  So we're assuming the rate base is $4 billion in 2019.

MS. GIRVAN:  What's the 10.5 and the 10?

MR. FISCHER:  Oh, that's just a hypothetical result.  So 10.5 is what our actual ROE was on average over the five years of the IR term, and the 10 percent is the allowed ROE per the 2009 Board-approved formula, average over the five years.

MR. QUINN:  To make sure I'm playing along at home here, you'd have to have a greater than 200 basis point difference between actual and approved ROE for your maximum 0.5 to kick in?

MR. FISCHER:  Correct.

MR. QUINN:  I think I hope got it.  Thanks.

MR. FISCHER:  So step C, so we know that 12 and a half percent -- or 0.125 percent, sorry, is the ROE premium.  We're applying that to an assumed rate base of 4 billion in 2019.  The equity ratio is 36 percent.  The resulting ROE premium in dollar value is $1.8 million.

So $1.8 million of earnings, that's reflective of earnings, reward, would be applicable for 2019 and 2020.  And as I suggested to Ms. Girvan is the last step is to convert that into a dollar value that would be applied to a just revenue requirement in 2019 and in 2020.

So the last step, then, is to take that $1.8 million and gross it up, 1 minus the tax rate -- we're assuming the tax rate is 26.5 percent in the illustration, and that grosses up to two-and-a-half million dollars.

So two-and-a-half million would be added to the revenue requirement each of those years, for a total of 5 million, in terms of revenue, and a total of 3.6 million, in terms of earnings.


MR. SCHUCH:  Would there be any difference between a revenue treatment and just a regular deferral account disposition type of treatment?  It's still the same dollars, I'm assuming.  I'm not sure why you are boosting your revenue.

MR. SMALL:  Let me just think about that for a second.


I don't think there would be a difference, because in order to record the amount in the deferral account we'd have to record a revenue stream offset it, which we would be taxed on, if that clarifies.
Questions by Mr. Shepherd:

MR. SHEPHERD:  I have a couple questions.  In order to calculate the raw incentive, you have to gross it up for taxes, but the net present value of the productivity initiatives is already dollar for dollar in rates, right?  This is -- there's no tax adjustment to that, right?


MR. FISCHER:  I'm not following you.  In terms of it being in rates -- the next step, I think, is the NPV portion of it, so to the extent that we identify or put into effect new initiatives that result in -- in efficiency that, you know, extend beyond the IR term, so the NPV is done on that -- and how that's actually treated in the rates is unknown at this time, in a future period --


MR. SHEPHERD:  Well, if your costs are lower, then your rate's going to be lower; right?  If 2019 is your rebasing year.


MR. FISCHER:  Right.


MR. SHEPHERD:  So that's dollar for dollar, but the incentive is grossed up for taxes.  I'm not sure I understand how that is a reasonable comparison.  Can you help me with that?


MR. KANCHARLA:  I'll try as well.  What we're doing here is separating out the NPV of the productivity initiatives, and I think we'll get to the next slide where the net present value of the benefits, it's a criteria to prove that we are eligible for SEIM.


Here what Mr. Fischer has provided in this context, the treatment is like a formula-based ROE.  Like, when we do in a cost of service the revenue-requirement calculations, we look at what is the allowed ROE, and then in terms of the calculation revenue requirement we gross it up for taxes.


So from a reward calculation perspective, actually, they're dealing from the NPV of the benefits to the reward calculation here.


Mr. Shepherd, when we walk through the benefits calculations, what is that we are doing and how is it linked to SEIM, it might provide more --


MR. SHEPHERD:  Go ahead, and I'll come back to it.


MR. FISCHER:  So in slide 5 now we're going into step two.  So step one, we've calculated what the ROE premium is in terms of dollars.  We've calculated what the revenue premium, in terms of dollars, is, based on the experience over the five years of the IR term.  And so now we're diverging from the implementation of efficiency carryover mechanism in Alberta, so we've added on a number of tests, NPV of efficiency initiatives that have been pursued during the IR term.  That's the next step, step two.  And the final step is a check on various metrics.


So step two then is this NPV calculation, and essentially what needs to occur in terms of this test is the NPV of productivity initiatives identified in the productivity initiatives report, the NPV of those -- the life-cycle NPV of those initiatives needs to exceed the ROE premium, the total ROE premium, for those two years.


So in our example here it's $3.6 million.  So we need to be able to demonstrate in the productivity initiatives report that on an NPV basis the total of all of those initiatives on a present-value basis exceeds that $3.6 million.


MR. SHEPHERD:  Okay.  So can I then follow up my question now?


MR. FISCHER:  Yes.


MR. SHEPHERD:  Why are you comparing it to $3.6 million?  You're asking -- the next present value of the benefits is 5 million.  You are asking the ratepayers to pay another 5 million, right?


MR. FISCHER:  I think it's valid, because the NPV calculation is after-tax calculation.  It's a cash-flow analysis.  So it's cash flow after tax, and the --


MR. SHEPHERD:  There is no tax.  It's expenses.  So it's irrelevant.


MR. FISCHER:  The NPV calculation is done after tax.


MR. SHEPHERD:  No, no, sorry, this is not -- the -- when you have an expense, it flows directly through to rates.  What the ratepayers save on that $5 million is a net present value of 5 million, and so I don't understand why, if you are asking them to pay an additional 5 million to you on the incentive, that you are saying, well, let's pretend they are only having to pay 3.6.  I don't get that.  I don't understand how it works.


MR. KANCHARLA:  I think what we are trying to -- when we do the NPV calculations here, as Mr. Fischer related, this will be based on a cash-flow calculations here, right, so -- and the cash outflow, what we see it as the 3.6 million benefits, so in the example, maybe just to go back, when we discount the program's initiatives at the utility cost of capital and NPV comes zero, that means we -- the utility has earned as close to as allowed cost of capital or comparable allowed return equity.


So what we're saying now is to -- for the utility to get the benefits of the SEIM reward, we need to exceed the NPV equals to zero, right?  And by what amount we need to exceed the NPV equals zero, and we're saying that that should be the reward that the utility is asking for.


MR. SHEPHERD:  Maybe I've misunderstood the point of this test.  I thought the point of this test was that the ratepayers couldn't be asked to give you a benefit that exceeded the benefit you were giving them.  Isn't that the concept?


MR. KANCHARLA:  That's right.


MR. FISCHER:  So the benefit that we're --


MR. SHEPHERD:  So the benefit you're giving them then is 5 million -- sorry?


MR. FISCHER:  The benefit that the utility is getting is $3.6 million.  That's the earnings benefit.  The test is that -- is against that.
Questions by Mr. Quinn:

MR. QUINN:  I think, Mr. Fischer, the question out of that would be, who pays the government, and in Jay's point the ratepayers are paying the government and you, but they're only getting the benefits if it exceeds the amount you get.


But my clarifying question, and I have flipped ahead to slide 5, is what you are saying, Mr. Kancharla, is that that table is based upon an after-tax NPV?  Because that would clarify things.


MR. KANCHARLA:  Yeah, the discount rate we would be using would be in an after-tax...


MR. QUINN:  Okay.  So that helps.  And then I think we're getting closer to apple-apples (sic), but I see Mr. Shepherd isn't --


MR. SHEPHERD:  No, I'm not, actually.


MR. QUINN:  That's why I thought it was apples to apples.  It's an after-tax --


MR. FISCHER:  This is an ED calculation.
Questions by Mr. Shepherd:

MR. SHEPHERD:  If this number here was 4 million, on the fifth slide, if that net present value was 4 million, then what the ratepayers get, in terms of rate savings on a net present value basis, is $4 million, but it costs them 5 million to get that, because they have to pay an additional 5 million to give you your incentive.  Isn't that right?


MR. KANCHARLA:  That's right, and I think actually Mr. Quinn --


MR. SHEPHERD:  Okay.  So I don't understand the logic.


MR. KANCHARLA:  No, Mr. Quinn has actually helped me here.  It's like, if you're looking at the cash flow, discount cash flow, it depends on which discount rate you are using, right?  If you are using a pre-tax discount rate, then the comparable -- you are using a higher discount rate, and probably comparable would be 5 million here, but if you're using in an after-tax cost of capital here, we are comparing after-tax benefits here.


MR. SHEPHERD:  Not even remotely.  That's not -- they are not similar concepts.  Here, if all the benefits were in 2019, there would be no present value, right?  It would be immediate.  Bam, right?  And if that was 4 million, you'd say, By the way, please pay us 5 million, right?  I don't understand that.


MR. CASS:  Well, Jay, the problem I'm having is I don't think we're here to argue about it or to cross-examine.  They have done their very best to explain it over and over.  You are not accepting their explanation.  I don't know what more we can do in this context.


MR. SHEPHERD:  I'm trying to understand how -- the point that he's making.  I'm not trying to argue with him.  Mr. Kancharla has said that the use of weighted average cost of capital in the net present value makes a difference.  If you use the example of all the benefits are in 2019, it's clear that that is not correct, so I'm giving you an opportunity to tell us what the correct answer is.

MR. FISCHER:  In my mind, it's entirely consistent to use an after-tax earnings benefit and compare that to an after-tax NPV calculation.  To me, that's apples and apples.

MR. SHEPHERD:  Fine.  Thanks.

MR. FISCHER:  So the NPV calculation is step I, I guess, sub-step I under step 2, in terms of testing whether the SEIM award will be in fact awarded at the end of the IR term.

So I think we're on slide 6 now.  So the next two steps under step three are looking at EGD's performance during the IR term with respect to metrics, and sub-step II is looking at customer relationship and operational performance metrics during the IR term.

So in this hypothetical example, there are –- well, this is not hypothetical.  There are six metrics that make up customer relationship and operational performance.  And so in this illustrative table here, we've -- what we're doing is we're comparing the average of the actual results during each year of the IR term to 2013.  So we're taking an average for each metric and calculating that in the right column, and we're comparing that right column to the actual 23 -- 13 metrics for each one.  And this test requires us to -- we must meet or exceed in terms of that average over the IR period for each metric, what that metric was in 2013.

So in this hypothetical example, if you go through it, the test is met.  So each of these six metrics on average during the IR term, they meet or exceed the 2013 actual result for that metric.
Questions by Mr. Wightman:

MR. WIGHTMAN:  James Wightman for VECC here.  Can I ask a question?  Was 2013 a pretty typical year in terms of those SQIs?  I mean, to take one year.  I'm just curious.

MR. KANCHARLA:  I don't know particularly if 2013 is a unique year or one particular year, but what we're proposing is that, like any other rebase year, 2013 is a rebase year, and during the IR term we want to be better than the rebase year on the SQRs.  That's how we come up with this, looking at 2013, yes.

MR. WIGHTMAN:  I guess my point was if 2013 was a particularly not so good year in terms of SQIs, you would be setting the bar pretty low.

MR. FISCHER:  I don't think Mr. Kancharla or myself know the answer to that.  Clearly, 2013, we know what actuals are for that, and the IR period is each year after that, so...  But whether it's typical or not, I don't know.

MR. QUINN:  To satisfy Mr. Wightman, would you be able to provide the average from the previous IR terms, just as a comparative figure relative to the 2013 numbers?

MR. KANCHARLA:  Yeah, we can take that undertaking.

MR. SCHUCH:  This is an undertaking, and it would be TCU1.12.
UNDERTAKING NO. TCU1.12:  EGDI TO PROVIDE AVERAGE FROM PREVIOUS IR TERM AS A COMPARATIVE FIGURE TO 2013 NUMBERS; to provide SQR metrics and performance during the IR period for those SQR metrics


MR. FISCHER:  It's the first IR period?  Through 2012 is what you're looking for?  2013 may not be available yet.

MR. QUINN:  Yes, Mr. Fischer.  I think Mr. Wightman was just saying one year, just a snapshot.  You've got history that's previous to that.  It's there as a comparator.  You may -- some you may be higher, some you may be lower, but it should not be demonstratively atypical so that you've set the bar too low, in his words.

MR. FISCHER:  Okay.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can I ask a follow-up question?  Could you undertake to apply this mechanism to the 2008 to 2012 period as if it were in place, and do all the calculations and tell us how much you would have been asking for -- had this been in place the last time around -- how much would you have been asking for in 2013 and 2014?

Now, you have to assume that criteria one had just been met, because you can't do that math because you don't have the productivity initiatives report, right?  But assuming that has been met, can you go through the math and show us what that would have meant had it applied last time?  Qualification under these tests, for example.  How much would the premium have been and what would it have translated into, et cetera.

[Witness panel confers]

MR. FISCHER:  Could I give you a qualified response?  I think what you are saying is that not including any identification of specific productivity initiatives -– so we can definitely calculate –- this is the qualification in terms of the difference in ROE premium over the 1st Gen IR period.

The complication is with respect to the accounting error, and if and when we can get that factored into this or not.

MR. SHEPHERD:  I'm told that you know what the bottom line impact on ROE is of the accounting error; you just don't know all the details yet, but you know what the final result is.  I'm told that's true.

MR. SMALL:  Could you repeat that?  That we know what the final impact is on ROE or --


MR. SHEPHERD:  Yeah, the ROE, the new ROE number you know already.  You've reported it to your board of directors, as I understand it.  But what you don't have yet is the full breakdown of how that plays out to all the other numbers, but I don't think you need that for this calculation.

MR. SMALL:  I guess subject to check.  I'm not aware that we've calculated utility ROEs before and after earnings sharing, and normalized, un-normalized, at this point to account for each of the annual impacts of that accounting error.  That's what I thought Andrew had indicated we would be looking to provide before the settlement conference.

MR. SHEPHERD:  My understanding was that you've already done a report to your board of directors, in which you told them what the impact of this is.

MR. FISCHER:  Can we leave it as if we can do it, we'll provide it?  If it's there, we'll definitely do it.

MR. SCHUCH:  That would be Undertaking TCU1.13.  Thank you.
UNDERTAKING NO. TCU1.13:  EGDI TO apply thE mechanism to the 2008 to 2012 period as if it were in place, and how much would have been askED for in 2013 and 2014
MR. FISCHER:  So I'm on slide 7, the last slide of our illustration.

And so the final test is relating again to metrics,  and what we're comparing here is looking at SQR metrics, so again we're comparing actual SQR metrics resulting over the IR period and comparing that to 2013 actuals.

And this test is a little bit different than the first one in that what we're proposing is that we look at the overall average of all of these metrics and ascertain whether in terms of an overall average that we are in excess of, at or above in terms of the 2013 metrics greater than three years.

So in this illustration, we go through each one of the metrics, and we identify in the right-hand column each of the years during the IR term that we have met or exceeded the 2013 actual resulting metric.  And we do that for each one of the metrics, so the first one is all five years, the second is all five years, all five years for the third and so on, and the fourth one in the illustration, only three years have met or exceeded.  We do that for each one of them.  We take the average of these one, two, three, four, five, six, seven metrics, and the resulting average is 4.625 in our illustration.  So the test is, is that greater than three.  And it is in this case.


So -- and that's the last test, so in our illustration we calculate the ROE premium, we calculate the ROE adjustment to revenue in 2019 and 2020, and then we apply these three tests, an NPV test around efficiency initiatives that extend beyond the IR term -- that's the first one, just to recap, and then the second and third relate to looking at performance metrics during the IR term.  In the second case we're looking at specific customer and operational metrics.  And then the final test is looking at SQR metrics.


And if we pass those three tests and those last three elements, these are the add-ons that I -- when I was talking earlier with Dr. Kaufmann was above and beyond what is implemented in the ECM mechanism that Alberta has adopted.


MR. QUINN:  If I may -- sorry, Dr. Kaufmann, I just wanted to make sure, we said TCU-12 was the previous performance for step three criteria, which is maintain and improve their performance and customer relationship.  Would you be willing just to add to that undertaking your SQR metrics and performance during the IR period for those SQR metrics also?


MR. FISCHER:  So Mr. Quinn, if it's available, we will.

MR. QUINN:  Okay.  Thank you.  And then just -- and then I promise not to get into argument here.  The interaction you had with Mr. Shepherd helped me distinguish.  I think what I heard -- and you can correct me if I'm wrong -- is your table in 1, calculating the NPV, these are not after-tax values in the table.  The discounting factor you are using is based upon an after-tax value.  Do I have that correct?


MR. KANCHARLA:  That's correct, Quinn (sic).  What we'll be doing is a cash-flow analysis here and use the appropriate discount rate.  If we're using after-tax cash flows, we use an after-tax weighted average cost of capital.  If you are using a pre-tax cash flow, we'll use a pre-tax WACC.


MR. QUINN:  But the first point, these are pre-tax values in the table.


MR. KANCHARLA:  Yes.


MR. QUINN:  Thank you.  That's all I need.


DR. KAUFMANN:  I have a question.  The SEIM is designed to create incentives for the companies to pursue efficiency gains in each year.  And I'm just wondering if you can explain to me what about the mechanics that you just presented, where exactly do the incentives come in for the company to be consistent with respect to pursuing efficiency gains in every year, and more particularly in the last years of the plan?  Where exactly do those incentives kick in?  I just -- I'm -- when I think about the Australian plans, the ECMs and the Ofwat ICMs, it's very clear how that happens, but I'm just wondering, now you've gone through the illustration, if you can just show me exactly where in the dynamics there's some offsetting incentive for the company to say, Spend a little bit more in year five.  Goldplate its capital stock, so that when it goes into the next five-year plan it can benefit from that, not just -- there's a short-term loss in that year, but there can be a five-year gain because that forms the basis for rate adjustments for the next IR plan.


So I'm just wondering, what about this mechanism offsets that incentives, which is -- offsets that incentive, which is what ECMs are designed to do?

[Witness panel confers]


MR. FISCHER:  So I think I'm just going turn it over to Mr. Kancharla to answer part of your question, Dr. Kaufmann, and also, Ms. Frayer has additional comments, I think, to make to further answer that question.  But I'll just turn it over to Mr. Kancharla at this point.


MR. KANCHARLA:  Yes, what we're doing through our SEIM is really look at the AUC and establishing some criteria in terms of the calculations.  It's just similar in terms of the reward.  And for example, on slide 5 it is an illustration here, but if you look at the project or initiative C that we are looking at for, this is an initiative, if you look at its negative here, in 2018 this is a project that the utility might undertake in 2018.  Clearly, if 2019 is a rebasing year. there is no benefit flowing.  It is an incurred cost here.


Again, it's an illustration, but what we're showing here is, by investigating in a 3 million in a particular project or initiatives, we know that there are some sustainable benefits beyond the rebasing period.  So that's what we are trying to capture through the SEIM incentive.


MS. FRAYER:  To add to it from a conceptual perspective, if we didn't have the SEIM, there might hypothetically be incentive to take that $3 million investment and wait until 2020, after rebasing, because there would be no opportunity to count the net benefit of a dollar and recoup some of that.


So the presence -- I think the way I like to think about it, it's the presence of the SEIM, and the fact that the reward can only be attained in a future IR generation cycle and only if proven to be net beneficial to consumers.  It's that overall concept that formulates the incentive for management not to delay investments that create long-term benefits.


DR. KAUFMANN:  Have you done any analysis that looks at the potential trade-offs of a hypothetical scenario of a company deliberately waiting until the last year to spend capital and take a one-year hit in that year knowing that that capital stock will form the basis for the capital stock that's the basis for five years of rate increases past that point?  Have you looked at those trade-offs and examined the trade-off of pursuing that potentially inefficient behaviour in the last five -- year five because of the long-term gain in the next plan?  Have you looked at the trade-off of companies doing -- engaging in that type of behaviour and the extent to which the SEIM offsets that, that action in particular?


MS. FRAYER:  We have not, and one thing I do want to note is the SEIM isn't meant to be just capital-driven investment.  So I don't think we've specified here capital or OPECs.  It's going to be a combination, and we don't want to predispose or pre-judge what kind of efficiency incentives there may be created.


I do understand your question, Dr. Kaufmann, as talking to the fact that from an accounting perspective op-ex and cap-ex may be treated differently, but the SEIM is not supposed to -- in, I think, potentially working a little bit off of the experience in the U.K., it's not supposed to provide any type of indicative preference for cap-ex or op-ex.


DR. KAUFMANN:  Okay.  In terms of the numbers that you have here for benefits -- so I assume these are potential saves in both op-ex and cap-ex.  Is that correct?  Going forward?


MR. KANCHARLA:  Again, we're looking from a cash-flow analysis perspective, but it would include both -- whether it's capital benefits or cost or operating costs.


DR. KAUFMANN:  Okay.  So -- and just entirely cash flow, so $1 savings in cap-ex is treated the same as a $1 savings in op-ex, for this, for the basis of calculating benefits?


MR. KANCHARLA:  That's right, and again, it's not -- as I said, this is just an illustration here, but, like, we would follow the typical cash-flow analysis, because there are some -- for example, for cap flow there are some CCA benefits available, so we would consider all the typical cash-flow analysis.


DR. KAUFMANN:  But a $1 savings in capital has different implications for ratepayers than a $1 savings in operating expenditures, correct?


MR. KANCHARLA:  From a cash-flow perspective it shouldn't be different.


DR. KAUFMANN:  Well, but from an accounting -- from a rate-making perspective.  If you save $1 in capital expenditures, that's going to have less of an impact on rates than a $1 saving in operating expenditures.


MR. KANCHARLA:  That's correct, in a particular year.  In one year, when you're looking at a one-year analysis, yes, it has a different impact.
Questions by Ms. Girvan:

MS. GIRVAN:  I had a question.  If we look at slide 5, if you could take, for example, take the line B, just so that I understand.  So you are saying in B, in 2014 you are going to spend two-and-a-half million dollars on something, right?  Something.  But an example.  Okay.  So then in 2015 there's going to be a benefit of $500,000 in reduced costs; is that right?

MR. KANCHARLA:  That's correct.

MS. GIRVAN:  So that continues all the way through to 21.  Now, in 2015 is that benefit reflected in earnings sharing?

MR. KANCHARLA:  Yes, it will be.

MS. GIRVAN:  Then the net present value of you spending that money over the course of the project is a million dollars?

MR. KANCHARLA:  The net present value, again, it's an illustration here is -- what we're saying is over the life of the program, which is where we think the benefits would end is in '21, one million is the net benefits from the investment of 2.5 million.

MS. GIRVAN:  Okay.  And back to Dr. Kaufmann's question, the 2.5 million could be capital or O&M?

MR. KANCHARLA:  That's correct.

MS. GIRVAN:  Okay.  Thanks.
Questions by Mr. Brett:

MR. BRETT:  I just have one question following up on that, on the last two questions.  I apologize.  I may have been out of the room when this came up, but looking at again at page 5, where do we see or where will we see a list of what might be called eligible sustainable savings initiatives, where and when?  And when will we see, then, how you convert the -- how you calculate the proposed savings in each year from that -- from each of those types of initiatives?  I'm just trying to put a little meat on the bones here.  This is hypothetical, I understand, but I'm assuming that there's a sort of at least a going-in set of initiatives that you have in mind, areas that you propose to examine.

And my question is:  When do we get a sense of what those areas are, and how exactly you calculate the financial benefits from each of those investments?  And how do you decide over what period of years, for example, you should take into account those financial benefits from that particular investment?  Because these will vary, presumably.

Is that going to take place at the end of each year, when you bring in your -- I've forgotten what you call it, but your efficiency initiatives report?  Will that report document in sufficient detail how you arrive at these numbers and what the initiatives are?

In other words, a fairly -- where do we get a substantial description of what the initiative is all about?  I'm not talking about the theory here; I'm talking about really what's going to happen on the ground.  What kind of initiatives are we talking about, and how are those going to be valued on a unit basis and then on a total basis, given what you assess as being the reasonable scope of a program that would have a chance of achieving a certain amount of saving over a given period of years?  When does all that come out?

MR. KANCHARLA:  As we proposed in our applications, as part of the earnings sharing mechanism filing we will be providing a productivity initiatives report on an annual basis.  So in that report would include the project details and the financial benefits, what those projects are yielding, so on an annual base as part of the SM application we will be filing this report.

MR. BRETT:  I'm right, am I, in saying the intervenors would be able to challenge those numbers and those facts in each of those years?  And that if you were -- the Board would have to pronounce on whether or not those particular set of initiatives and those costs were proper to include in this NPV calculation; is that correct?

MR. CASS:  Tom, I'm not sure that we had thought it through to that point, that there would be annual review and challenge and decision by the Board.  I think from the perspective of Enbridge, it was perceived to be annual reporting, but that the actual request for any sort of an application of this sustainable efficiency incentive mechanism doesn't happen until rebasing, and that would really be the time to get more into a testing and asking the Board for an actual decision.

I'm not sure what the Board would decide on an annual basis.

MR. BRETT:  I take your -- first of all, I guess for people on the panel, is that your understanding as well?  I take the point that you haven't thought through exactly how this mechanism would work and when these -- when these decisions would take place, but is it your understanding that there would really be no scrutiny of these costs and these measures, whether they were appropriate measures or whether they were --


The problem I have with that, incidentally, is you may get off on a track with a set of measures that really are felt by certain intervenors and perhaps by the Board to be inappropriate, or you may have a methodology for calculating the unit cost which is not -- does not stand up to sustained analysis.

I would think you would want to know and the Board would want to know early on if that were the case.  Otherwise, at the end, we're waiting until the end of five years to look at this; we might have a -- it may be too late.  We may have wasted effort on everybody's part.

This is a question, a rhetorical question.  Do you see what I'm driving at?  I'm asking the panel, actually.

MR. FISCHER:  So I think my response, thankfully, would have been fairly consistent with what Mr. Cass offered.  In terms of how we envision a review of what we're applying for, we don't see that happening until the end of the IR term.  We will be reporting this on an annual basis, and subject to that scrutiny I think that speaks to the transparency that we're trying to achieve with this customized IR plan.

But in terms of us getting approval for the SEIM reward for the years 2019 and 2020,that won't happen until the end of the IR term.  That's the way we saw it.

MR. BRETT:  I'm not so much talking about approval for the reward at the end of the day, as I am for sort of some legitimation that these are appropriate measures or not, and whether the method that you've used to calculate the benefits is appropriate, but I'll leave it at that.
Questions by Mr. Shepherd:


MR. SHEPHERD:  I have a couple of questions.

The first is I'm looking at this table on slide 5, and it doesn't look like -- it looks like you have not net-present-valued anything.  And maybe I'm misunderstanding it, but the net present value is to the beginning of 2019, right?  That would be how you would value it?

MR. KANCHARLA:  That's correct, Mr. Shepherd.  We would discount it to the year when we are seeking the reward.

MR. SHEPHERD:  So that would be beginning of 2019, right?

MR. KANCHARLA:  You're correct.  I think what we illustrated here, so that the total NPV adds up, is one way to look at it.  '17, '18, '19 are present value numbers here.  It is a very simple illustration here.

MR. SHEPHERD:  So the numbers up to '18 are actual costs or savings, and from '19 on, in this example, are NPV numbers?

MR. KANCHARLA:  In this illustration, we kept it very simple.  Each, '17, '18, if you add up all that, they will be come up total NP of 2 million.  So these are not absolute dollars, just to keep the illustration simple.

MR. SHEPHERD:  This may well be referred to in a hearing, so I want to make very sure I understand what the example is.  It looks to me like the numbers in 2014 to 2018 -- where you're not doing net present value in those years, right?

MR. KANCHARLA:  We would bring forward both the cost and the benefits to the year, then, when we're seeking the reward, which is in 2019.

So the time value of money of even 14 would be brought forward to 2019, and similarly the 23rd would be brought to the year then when we are seeking --


MR. SHEPHERD:  So you would in effect be assuming that you get paid interest on your initial investment.


MR. KANCHARLA:  Yeah, it's interest is a time value of calculation that we would be using here.


MR. SHEPHERD:  All right.  So then in this example, for example, you got in 2014 -- you've got an investment by Enbridge of 2.5 million.  You are actually assuming that that's 2 million, let's say, plus the time value of money to 2019.


MR. KANCHARLA:  That's correct.


MR. SHEPHERD:  And similarly, working the other way, backwards, you've got a number in 23 for A of 5 million as benefits, and you are assuming that that is actually, let's say, 4 million in benefit -- or, sorry, 6 million in benefits --


MR. KANCHARLA:  It'll be higher.  Higher.


MR. SHEPHERD:  -- but discounted, it's actually 5 million.


MR. KANCHARLA:  Yeah.


MR. SHEPHERD:  Okay.  Now I understand.


The second thing is, I'm trying to understand the interaction between this SEIM and the earnings sharing mechanism, and I just tried to do the math, because the earnings sharing mechanism operates on the same numbers, right?


MR. KANCHARLA:  Yes.


MR. SHEPHERD:  Okay.  So, and am I right -- and you can undertake to provide this if you want -- that at approximately -- at anything -- at any number of average basis points above allowed ROE of 124.5 or less, the effect of your SEIM is to give back all of the earnings sharing or more; is that right?  The threshold I calculated was 124.5.  Does that sound about right to you?  You can take that away as an undertaking if you want.


MR. KANCHARLA:  Yeah, because for the ESM you have a dead band as well, right, so --


MR. SHEPHERD:  And that's why it's such a weird number, because you have to factor in the dead band.  You can take it as an undertaking and do the calculations if you want.


MR. FISCHER:  Mr. Shepherd, could you just restate the question so that we make sure we --


MR. SHEPHERD:  Yes.  As I understand what happens, it is, if your average ROE is 124.5 basis points above allowed ROE during the IRM term, then the effect of the SEIM is for the ratepayers to give back all or more than all of the earnings sharing that they received.  It's just math.


MR. KANCHARLA:  We'll take an undertaking.


MR. SCHUCH:  That undertaking would be TCU1.14.
UNDERTAKING NO. TCU1.14:  EGDI TO CALCULATE WHETHER, IF THE AVERAGE ROE IS 124.5 BASIS POINTS ABOVE ALLOWED ROE DURING THE IRM TERM, THEN THE EFFECT OF THE SEIM IS FOR THE RATEPAYERS TO GIVE BACK ALL OR MORE THAN ALL OF THE EARNINGS SHARING THAT THEY RECEIVED

MR. SCHUCH:  Are there any further questions on the SEIM?
Questions by Dr. Kaufmann:

DR. KAUFMANN:  I just have one follow-up for Jay's question.  And just in terms of the relationship between the SEIM and the ESM, as long as -- isn't it true that as long as the company is within the dead band for the ESM that -- but over its allowed rate of return, that customers will be paying, because they won't get any benefits from the ESM because they are within the dead band, but there will still be a positive calculation of revenues to be earned from the SEIM, so isn't that correct?


MR. FISCHER:  Yes, that's correct.


MR. SCHUCH:  Any further questions of this panel on the topic of the SEIM that was handed out?  No?  Then the next party I have on my list on the agenda for this panel then is Schools.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Thanks.  We're going to end at 4:00?  Is that what you suggested in your e-mail?  Okay.  So what I suggest is, rather than start in on my written questions -- and by the way, are you going to answer any of the written questions in writing?


MR. LISTER:  Yeah, I believe so.  Our intent was that you would go through the questions, and where we would need to take an undertaking we would.  Just thinking that maybe some of the exchange may have reduced your questions or may have created new questions for you.  We're in your hands.  If you have a better way to proceed, then --


MR. SHEPHERD:  No, no, no.  That's fine.  I just wanted to know so I could prepare myself, but I have a number of questions on your updated A-2, tab 1, schedule 1, so why don't I start with that, and then you can -- that will take us 'til four o'clock, and we can proceed in the morning, if that's all right.


And these are not in our written questions.  So I'm starting -- and I'm just going to go through it page by page.

On page 4, do I understand correctly that if you look at paragraph 13, that this set of components, the first set of components of the IR plan, the allowed revenue amounts, are essentially identical -- except for the Y-factor amounts, they're essentially identical to cost of service?  You are not proposing to do them in a different way than cost of service?  You're forecasting O&M, you're forecasting capital, you're forecasting cost of capital, depreciation, et cetera, right?


MR. FISCHER:  So Mr. Shepherd, the customized IR plan is not cost of service, first of all.


MR. SHEPHERD:  Okay.  I didn't ask that question.


MR. FISCHER:  But -- I can continue, right?  So in terms of what we are doing in each year, we're -- it's very analogous to the building-blocks approach that LEI has in their evidence and how it's been implemented in the U.K. and in Australia.  And in that approach, you know, there's a number of blocks of cost elements that are added together, and in fact, our customized IR plan is virtually the same as that approach, in terms of a build-up of those cost blocks or those cost elements for each year, based on a forecast of those cost elements with embedded productivity in both O&M and in capital.


MR. SHEPHERD:  Okay.  So my question is, in each of these elements that you're adding up here, in this first box here, where it says "to be determined by summing together", et cetera, et cetera.  For each of these items, is there any difference in how you're proposing to do it between what you are proposing and normal cost of service for each of these elements that you are listing here?


MR. FISCHER:  Well, a big difference is that we're forecasting costs -- well, there's two big differences.  One I've already mentioned, but --


MR. SHEPHERD:  Which one did you already mention?


MR. FISCHER:  The embedded productivity.


MR. SHEPHERD:  Okay.


MR. FISCHER:  So if you're --


MR. SHEPHERD:  Embedded productivity in normal cost of service?


MR. FISCHER:  Sorry, Mr. Shepherd, I was actually still talking, but --


MR. SHEPHERD:  My apologies.


MR. FISCHER:  So in terms of what we are doing, versus -- I'm thinking your references to cost of service is related to, like, a forward test-year cost-of-service approach.


MR. SHEPHERD:  Yes.


MR. FISCHER:  So again, I think two big differences there.  You know, one is one I've already mentioned, the importance of embedded productivity, and again, that consistency that we thought needed to be in this plan, because we do -- we are informed by the building-blocks approach, where that in fact exists.


We're also informed -- and you're going to be familiar with that in our evidence -- by the custom IR methodology that's available to electrics, and in that methodology also there's the expectation that productivity is embedded in their cost projections.


So that's clearly one big difference between our customized IR plan and build-up of costs.  And the second big one, I would say, is you can't -- it's just so -- it's such a big difference -- is that we're forecasting out five years and the forward test year is one year.  And that's a big difference.

And the ability to forecast out five years and take the risk on those costs -- and again, as we describe in our evidence, even the budgeting associated with O&M and capital, where we expect to be challenged to meet those costs.  And we're going out five years with this, and that is a huge difference between forward test year.  So those are the two biggest differences, I think.

MR. SHEPHERD:  So then those two things are the even better productivity initiatives in this forward five years, which you wouldn't necessarily in a one-year plan, and you're doing five years instead of one year; is that right?

MR. FISCHER:  Right.

MR. SHEPHERD:  Thank you.

The next one is --

Questions by Ms. Girvan:

MS. GIRVAN:  Can I just ask a clarification question?  Sorry.

So can you just clarify, Ralph, how you're forecasting O&M in 2017 and 2018?  Because there's an Energy Probe Interrogatory 3 under issue A6 that says:

"Enbridge will determine O&M costs and municipal and property taxes for '17 and '18 by calculating the average rate of change in these costs from '13 to '16, and will apply that rate of change to the 2016 value and then to the resulting 2017 value."

Can you -- I know it's a little out of context, but...

MR. KANCHARLA:  I'll respond to that.  What we have done for '17 and '18, again it goes to the point that Mr. Fischer was talking about, how we are really decoupling from what the costs could be in those years.

What we've done as an option is for the years '17 and '18, we looked at, in our application, the average growth for '14, '15 and '16, which comes to about 3.12 percent, and we applied that for --


MS. GIRVAN:  Growth of what, sorry? 

MR. KANCHARLA:  The O&M growth for the first three years of our IR term.

MS. GIRVAN:  Forecast?

MR. KANCHARLA:  Yes, the forecast O&M growth for 2014 to 2016, and then applied that to the years 2017 and 2018.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Can I follow up on that?  Where did you get 3.12 percent, because I did the math and if you compound it, it's 3 percent, not 3.12.  It's only if you do simple that that applies.

MR. KANCHARLA:  Mr. Shepherd, it's a simple average.

MR. SHEPHERD:  So you just took the 9.35 percent and divided it by 3?  Because your increase over the three years is 9.35 percent, right?

MR. KANCHARLA:  That's right.

MR. SHEPHERD:  You just divided it by 3; is that right?  You have to say.

MR. SMALL:  Oh, sorry.  Yes, that's correct.

MR. SHEPHERD:  So then when you escalated '17 and '18, you applied that 3.1 to '14, right?

MR. SMALL:  To '16.

MR. SHEPHERD:  Well, then that's incorrect, isn't it, mathematically?  Because now you're compounding, right?

So will you undertake to provide us with new numbers for 2017 and 2018 that correctly apply the simple method rather than the compound method? 

MR. KANCHARLA:  No, taking the simple growth approach as well for the years '17 and '18, you could look at the average of the first three years and for '17 apply the average of the first three years.

MR. SHEPHERD:  Then you would have to assume it was -- you would have to do the exponential calculation for '14, '15 and '16, in which '15 is over '14, and '16 is over '15, right?  You have to do those calculations, which you haven't.  You've just taken the total of the period, so you have to apply simple for the next two as well?

MR. KANCHARLA:  That's correct, Mr. Shepherd.  I think the option, what we have done for '17 and '18, is we've -- you could look at various ways to escalate for the years '17 and '18.  What we have done in our application is we've taken the simple average of the first three years and used that as a proxy for years '17 and '18.

MR. SHEPHERD:  Fine.  I've asked for an undertaking to do the calculation on the basis that the simple increase in each of those three years is applied to the 2013 instead of applied to the 2016.  Will you do that by way of undertaking, so we can see what the impact of the difference is?

MR. KANCHARLA:  I'm trying to understand this.  If you're saying if you used the 2013 base year O&M and just escalate by 3 percent of that for the year '17? 

MR. SHEPHERD:  Your calculation right now is 2013 to 2016.  The increase is 9.35 percent.  Divide by 3, and you get the average increase each year.  That's the average assuming that your applying it to all three years to 2013.  It only works that way, right?

So I'm saying if you're applying the average to 2013 only, then you have to do the same thing for 2017 and 2018.  I'm asking you to undertake to do that calculation.

MR. KANCHARLA:  Okay.

MR. SHEPHERD:  Thank you.
Questions by Ms. Girvan:

MS. GIRVAN:  Sorry, I wanted to follow up again with this question, the Energy Probe 3 that's on the screen.

Enbridge will determine O&M costs?  So you've already done that calculation for '17 and '18, right?

MR. SMALL:  Sorry.  Yes, it's reflected in our results.

MS. GIRVAN:  It's not going to be based on actual costs?  It's -- you're taking the average rate of change of your forecast, right?

MR. SMALL:  Correct.

MS. GIRVAN:  Okay.  Thank you.


MR. SCHUCH:  The undertaking we just discussed will be labelled TCU1.15.
UNDERTAKING NO. TCU1.15:  ENBRIDDGE TO RECALCULATE THE 2017 AND 2018 NUMBERS.

Questions by Mr. Shepherd: 


MR. SHEPHERD:  Thank you.  My next question is on page 6 of this exhibit that we're looking at, A2, tab 1, schedule 1, updated December 11th.

And one of the things in here is the deferral and variance accounts that you are proposing for relocation projects and replacement mains for 2017 and 2018.  If I understand how they work, it is you calculate whether the actual spend is above or below budget, and if it's above or below budget, you calculate the revenue requirement impact of that.

If that revenue requirement impact of that is greater than 1.5 million, then you either give money back to the ratepayers or you get more money from the ratepayers, right?

MR. SMALL:  Correct.

MR. SHEPHERD:  Can you confirm that in both those cases it's not mathematically possible to give money back to the ratepayers, that they're asymmetrical because of the current amounts of the budgets?

Budgets are 12.6 million and 5 --


MR. SMALL:  5.1?

MR. SHEPHERD:  Yeah.  So you can't be giving back, can you?

MR. SMALL:  I would need to do a calculation.

MR. SHEPHERD:  Can you undertake to provide that?

MR. SMALL:  Yes.

MS. GIRVAN:  Sorry, Jay, what's the 12 point...

MR. SHEPHERD:  These are their existing budgets for those two items in 2017 and 2018. 

MR. SCHUCH:  Undertaking TCU1.16.
UNDERTAKING TCU1.16:  with reference to deferral and variance accounts proposed for relocation projects and replacement mains for 2017 and 2018, EGDI TO confirm that in both cases it's not mathematically possible to give money back to the ratepayers that they're asymmetrical because of the current budget AMOUNTS.

MR. SHEPHERD:  My next question on the same page is you referred to your performance -- your productivity initiatives as being benchmarked against a peer group.  Is that the seven-company peer group that Concentric is using?  Or the 25-company or some other peer group?

[Witness panel confers]

MR. KANCHARLA:  At this time, Mr. Shepherd, we have not determined the benchmarking.  What we have provided in the evidence is the metrics that we would be benchmarking, but in terms of the peer group, which peer group or what methodology we will follow, it's not yet determined.

MR. SHEPHERD:  Is this the only reference to that peer group in the evidence?  Because when I read it, I said I don't think I've seen that before.

Is it referred to somewhere else in the evidence?

MR. KANCHARLA:  I think what we provided here as part of the performance measurement is just the metrics.  We said we'll undertake a benchmarking.  We have not provided any peer group.

MR. SHEPHERD:  Thank you.  I'm looking now at page 10, I guess, but it's sort of in these few pages here.  You talk about the reason why you can't use I-minus-X performance IRM is because the future is not going to be the same as the past, and so it's not reasonable to use that, right?  I'm oversimplifying, but that's the basic concept, right?

MR. FISCHER:  So the expected future, particularly with respect to capital, is much greater than experienced in the past.  That has been a main driver for us to move away from an I-minus-X approach to the customized IR approach.  So that's different.

MR. SHEPHERD:  That's what I understood.  And my understanding is that the only way in which you're currently proposing that the future is going to be materially different from the past for the purpose of the structure of your plan is capital spending, right?  You are not proposing that your O&M spending, for example, will be different from the past?

[Witness panel confers]


MR. KANCHARLA:  Related to the operating expenses, how we are forecast is, we referenced to an inflation and had an embedded productivity, so I think earlier also Mr. Fischer alluded to as the difference from earlier process, that there is an embedded productivity in our forecast of O&M.

MR. SHEPHERD:  Sorry, that's going into an area that I'm not ready to talk about yet.  I'm just trying to get the -- your concept is that I minus X doesn't work for you.  I understand why you think it doesn't work for you because of capital spending, and so that's a tractable problem to me.  I didn't understand you to be saying it doesn't work for you because of a change in your pattern of O&M spending, and I'm asking whether that's in here somewhere and I just don't know about it.

MR. KANCHARLA:  You're correct, Mr. Shepherd.  I think capital is the main driver for choice of the model that we are proposing here, customized IR, and on the operating expenses, where I was going with my previous response is that company's at risk if there are pressures for any operating expenses greater than what you are forecast here.  There are definitely equal pressures on operating expenses as well.

MR. SHEPHERD:  Your operating-expense pattern of spending is expected to be different in the future than in the past?

MR. KANCHARLA:  There are some cost pressures even on the operating expenses as well.

MR. SHEPHERD:  Okay.  Do you want to stop now?  It's just after 4:00.

MR. SCHUCH:  It seems reasonable.  Unless anybody has a quick follow-up question, we can conclude.  Anyone?  Why don't we conclude, and we'll start up again tomorrow morning at 9:30 with the same panel.  Thank you.

--- Whereupon the conference adjourned at 4:03 p.m.
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